
CHEMISTRY

JEE MAIN AND ADVANCED

HYDROCARBONS

Example

1. What would be the formula of the next alkane if one hydrogen from

butane is replaced by a methyl group?

Watch Video Solution

2. Write structure of different chain isomers of alkanes corresponding to

the molecular formula  Also write IUPAC names.

Watch Video Solution

C6H14

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PRaCsNCf2FJU
https://dl.doubtnut.com/l/_MPzkrqFpHq0x


3. Write the structure of the compound 3,4-Diethyl-3,4-dimethyl heptane

Watch Video Solution

4. Which salt of carboxylic acid will be required to prepare ethane by

sodalime decarboxylation? Give equation for the reaction.

Watch Video Solution

5. Why iodination of alkanes is carried out in the presence of oxidizing

agents?

Watch Video Solution

6. Name few catalysts used in aromatization reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_MPzkrqFpHq0x
https://dl.doubtnut.com/l/_lnFuoEGaDdWz
https://dl.doubtnut.com/l/_KnFp4WLOFDaR
https://dl.doubtnut.com/l/_qeBy7d4BK0Mu
https://dl.doubtnut.com/l/_DoH0hUGLdhNd


7. On change from the staggered form to the eclipsed form in the ethane

molecule conformation, what happens to the electron cloud of carbon-

hydrogen bonds?

Watch Video Solution

8. Write IUPAC name of the following 

Watch Video Solution

https://dl.doubtnut.com/l/_DoH0hUGLdhNd
https://dl.doubtnut.com/l/_SY3HEfDSMqqn
https://dl.doubtnut.com/l/_JG0MdYDL078W


9. Give the E-Z designation of the following compound 

Watch Video Solution

10. What is the major product obtained when 2-bromobutane is heated

with alcoholic KOH? Write only the major product expected to be

obtained.

Watch Video Solution

https://dl.doubtnut.com/l/_9gq3HxewIym2
https://dl.doubtnut.com/l/_E1AxowDOokkl


11. What will be the major product obtained when isobutene under goes

reaction with HBr? 

?

Watch Video Solution

CH3 − C
∣

CH3

= CH2 + HBr →

12. What are the product obtained when butene undergoes addition

reaction of HBr in different conditions. 

(i) In absence of peroxide 

(ii) In presence of peroxide

Watch Video Solution

13. What is the kind of isomerism exhibited by the compounds given

below? 

Watch Video Solution

CH3 − C ≡ C − CH2 − CH2 − CH3CH3 − CH2 − C ≡ C − CH2 − CH

https://dl.doubtnut.com/l/_vYt30gLcPj3Q
https://dl.doubtnut.com/l/_VYtvaaCtii2z
https://dl.doubtnut.com/l/_MzGE44JYWo59


14. What is the product obtained when two molecules of ethyne and one

molecule of propyne undergoes cyclic polymeristion when the mixture is

passed through red hot iron tube?

Watch Video Solution

15. What are the marked positions known in the disubstituted benzene

compounds? 

https://dl.doubtnut.com/l/_MzGE44JYWo59
https://dl.doubtnut.com/l/_NabT6Xn4euss
https://dl.doubtnut.com/l/_jziN8kzvO5v2


Watch Video Solution

16. Why benzene is reluctant to show addition reaction?

Watch Video Solution

https://dl.doubtnut.com/l/_jziN8kzvO5v2
https://dl.doubtnut.com/l/_xecQFwuOcLCp


17. Propyne when passed through a hot iron tube at  produces

Watch Video Solution

400∘C

18. Complete the following reaction. 

Watch Video Solution

19. What would be the formula of the next alkane if one hydrogen from

butane is replaced by a methyl group?

Watch Video Solution

https://dl.doubtnut.com/l/_Aja5YOC2ODJU
https://dl.doubtnut.com/l/_kgHPyZ34SUjd
https://dl.doubtnut.com/l/_Rv7bEAsPKtWQ


20. Write structure of different chain isomers of alkanes corresponding to

the molecular formula  Also write IUPAC names.

Watch Video Solution

C6H14

21. Write the structure of the compound 3,4-Diethyl-3,4-dimethyl heptane

Watch Video Solution

22. Which salt of carboxylic acid will be required to prepare ethane by

sodalime decarboxylation? Give equation for the reaction.

Watch Video Solution

23. Why iodination of alkanes is carried out in the presence of oxidizing

agents?

Watch Video Solution

https://dl.doubtnut.com/l/_UEhSab1GLrRG
https://dl.doubtnut.com/l/_genO5lurqnIJ
https://dl.doubtnut.com/l/_wt989uScRswP
https://dl.doubtnut.com/l/_9GhwZU4AQAeJ


24. Name few catalysts used in aromatization reaction.

Watch Video Solution

25. On change from the staggered form to the eclipsed form in the

ethane molecule conformation, what happens to the electron cloud of

carbon-hydrogen bonds?

Watch Video Solution

26. Write IUPAC name of the following 

Watch Video Solution

https://dl.doubtnut.com/l/_9GhwZU4AQAeJ
https://dl.doubtnut.com/l/_1eBgHtJlxwAv
https://dl.doubtnut.com/l/_CDdj1SO6bs2g
https://dl.doubtnut.com/l/_LbnHns4VohBf
https://dl.doubtnut.com/l/_vz0Vhw138Lkk


27. Give the E-Z designation of the following compound. 

Watch Video Solution

28. What is the major product obtained when 2-bromobutane is heated

with alcoholic KOH? Write only the major product expected to be

obtained.

Watch Video Solution

29. What will be the major product obtained when isobutene under goes

reaction with HBr? 

?CH3 − C
∣

CH3

= CH2 + HBr →

https://dl.doubtnut.com/l/_vz0Vhw138Lkk
https://dl.doubtnut.com/l/_oGIM2ZIfqdiU
https://dl.doubtnut.com/l/_9M8rKye0MsRa


Watch Video Solution

30. What are the product obtained when butene undergoes addition

reaction of HBr in different conditions. 

(i) In absence of peroxide 

(ii) In presence of peroxide

Watch Video Solution

31. What is the kind of isomerism exhibited by the compounds given

below? 

Watch Video Solution

CH3 − C ≡ C − CH2 − CH2 − CH3CH3 − CH2 − C ≡ C − CH2 − CH

32. What is the product obtained when two molecules of ethyne and one

molecule of propyne undergoes cyclic polymeristion when the mixture is

passed through red hot iron tube?

https://dl.doubtnut.com/l/_9M8rKye0MsRa
https://dl.doubtnut.com/l/_tVMogDtYQxSI
https://dl.doubtnut.com/l/_g2mcy00IwF7g
https://dl.doubtnut.com/l/_hUbncXGJa0W6


Watch Video Solution

33. What are the marked positons known in the disubstitued benzene

compounds ? 

Watch Video Solution

34. Why benzene is reluctant to show addition reaction?

Watch Video Solution

https://dl.doubtnut.com/l/_hUbncXGJa0W6
https://dl.doubtnut.com/l/_5jxGAE27Ceg4
https://dl.doubtnut.com/l/_8F9MUhu1F2pp


Additional Information

35. Propyne when passed through a hot iron tube at  produces

Watch Video Solution

400∘C

36. Complete the following reaction, 

Watch Video Solution

https://dl.doubtnut.com/l/_8F9MUhu1F2pp
https://dl.doubtnut.com/l/_xm39GMgKUSxc
https://dl.doubtnut.com/l/_SUk9568yaim9


1. Complete the following reaction

Watch Video Solution

2.  


(C) What are suitable salt of lithium and alkyl halide to prepane neo-

https://dl.doubtnut.com/l/_tE8xtmHd92bU
https://dl.doubtnut.com/l/_ZYcv1MmZJrbr


Assignment Section A Competition Level Differ By

pentane by Corey-House synthesis? (D) Heat of hydrogenation of

propaene is greater than 2-butane , why?

Watch Video Solution

3. Complete the following reaction

Watch Video Solution

1. Successive alkanes differ by

https://dl.doubtnut.com/l/_ZYcv1MmZJrbr
https://dl.doubtnut.com/l/_8bg78E6eKmXP
https://dl.doubtnut.com/l/_faoNH7XzjgqM


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2

CH3

CH

CH4

2. Alcoholic solution of caustic potash is a specific reagent for

A. Dehydration

B. Dehydrohalogenation

C. Dehydrogenation

D. Hydration.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_faoNH7XzjgqM
https://dl.doubtnut.com/l/_xhICLHM3bkcQ


3. When two possible alkenes can be formed in a reaction the most stable

alkene is the preferred product This generation is known as

A. Markovnikov rule

B. Anti-markovnikov rule

C. Saytzeff rule

D. Huckel's rule

Answer: C

Watch Video Solution

4. When an alkyl chloride is treated with Na in dry ether, a symmetrical

alkane is obtained. The reaction is known as

A. Birch redcuction

B. Frankland reaction

https://dl.doubtnut.com/l/_xhICLHM3bkcQ
https://dl.doubtnut.com/l/_4lUfpMWaibtK
https://dl.doubtnut.com/l/_1dMEVZJnw6TP


C. Wurtz reaction

D. Halogenation reaction.

Answer: C

Watch Video Solution

5. Which method cannot be employed for production of an alkane?

A. Heating sodium salts of carboxylic acids with soda lime

B. Treating alkyl halides with Na in ethereal solution.

C. Electrolysis of aqueous solution of sodium or potassium salt of

carboxylic acid

D. Dehydrohalogenation of alkyl halides .

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1dMEVZJnw6TP
https://dl.doubtnut.com/l/_9u0wLeKdUS4Q
https://dl.doubtnut.com/l/_HWSYlKYjKpRE


6. Which one of the following cannot be prepared by Wurtz reaction ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4

C2H6

C3H8

C4H10

7. Which among the following alkane has the highest melting point?

A. n-Pentane

B. n-Hexane

C. n_Heptane

D. n-Octane

https://dl.doubtnut.com/l/_HWSYlKYjKpRE
https://dl.doubtnut.com/l/_a9i227ksT92N


Answer: D

Watch Video Solution

8. Which one is the appropriate reaction conditions leading to the

formation of ?

A.  (excess) 

B. 

C. 

D. Both 1 and 3

Answer: D

Watch Video Solution

C2H5Cl

C2H6 +Cl2

UV light

) →

C2H4 + Cl2
dark room temperature
−−−−−−−−−−−−−→

C2H4 + HCl →

9. To which of the following compounds  adds most readily?H2

https://dl.doubtnut.com/l/_a9i227ksT92N
https://dl.doubtnut.com/l/_H9jY8oUrjfOp
https://dl.doubtnut.com/l/_xjMD4BKLH9O3


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2 = CH2

CH3 − CH = CH2

CH3 − CH = CH − CH3

CH3 − C
∣

CH3

= CH − CH3

10. Reaction of alkenes with halogens is explosive in the case of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2

Cl2

Br2

I2

https://dl.doubtnut.com/l/_xjMD4BKLH9O3
https://dl.doubtnut.com/l/_HqpMAstGFt2K


11. When HBr adds to 1-butene in the presence of benzoyl peroxide, the

product obtained is

A. 1-Bromobutene

B. 2-Bromobutene

C. 1-Bromobutane

D. 2-Bromobutane

Answer: C

Watch Video Solution

12. An alekene on ozonolysis and hydrolysis in presence of zinc dust

produced one molecule of  and one molecule of HCHO. What is

the alkene used in the reaction?

A. 

CH3CHO

CH3 − CH = CH2

https://dl.doubtnut.com/l/_HqpMAstGFt2K
https://dl.doubtnut.com/l/_q7L9lvC9vlio
https://dl.doubtnut.com/l/_MAEyyBaShziV


B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH = CH − CH3

CH3 − CH
∣

CH3

= CH2

CH3 − CH2 − CH = CH

13. Markovnikov rule is applicable to

A. 

B. 

C. 

D. 

Answer: D

h id l i

CH2 = CH2

CH3 − CH2 − CH3

CH3 − CH = CH − CH3

https://dl.doubtnut.com/l/_MAEyyBaShziV
https://dl.doubtnut.com/l/_fhFDAJFtaSDJ


Watch Video Solution

14. Which one of the following compounds can decolourise alkanes

 solution?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

C2H6

C2H4

C4H10

CH2Cl2

15. Benzene on ozonolysis yields

A. Glyoxal

B. Acetone

https://dl.doubtnut.com/l/_fhFDAJFtaSDJ
https://dl.doubtnut.com/l/_x05Px3fkh6JH
https://dl.doubtnut.com/l/_5gDRuLol2Vmi


C. Propanol

D. Butanone

Answer: A

Watch Video Solution

16. Benzene reacts with excess of chlorine in presence of ultraviolet light

to produce

A. Hexachlorobenzene

B. p-Dichlorobenzene

C. Hexachlorocyclohexane

D. Chlorobenzene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_5gDRuLol2Vmi
https://dl.doubtnut.com/l/_DLAee4b4jFbj
https://dl.doubtnut.com/l/_jLKPML5HLQG6


17. Which among the following is not a mets directing group?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−NO2

−SO3H

−COOH

−OH

18. How many -bonds and bonds are present in the given

compound? 

A. 

B. 

C. 

σ π −

CH3 − CH2 − CH = CH − C ≡ CH

σ − 14, π − 5

σ − 12, π − 1

σ − 13, π − 3

https://dl.doubtnut.com/l/_jLKPML5HLQG6
https://dl.doubtnut.com/l/_0NxMhZWjLb4S


D. 

Answer: C

Watch Video Solution

σ − 14, π − 3

19. Arrange the following conformations of ethane in the order of

decreasing stability

A. Eclipsed  Staggered  Skewed

B. Eclipsed  Skewed  Staggered

C. Staggered  Eclipsed  Skewed

D. Staggered  Skewed  Eclipsed

Answer: D

Watch Video Solution

> >

> >

> >

> >

https://dl.doubtnut.com/l/_0NxMhZWjLb4S
https://dl.doubtnut.com/l/_YF0LtbbB0DW3


20. Maximum potential energy of the molecule of ethane will be in the

case when the dihederal angle will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60∘

30∘

10∘

0∘

21. Which among the following is not an activating group of the benzene

ring?

A. 

B. 

C. 

−NH2

−OCH3

−Cl

https://dl.doubtnut.com/l/_8mfVspndwWab
https://dl.doubtnut.com/l/_tWo8xrWBpLkX


D. 

Answer: C

Watch Video Solution

−CH3

22. Which among the following is not expected to be an aromatic

species?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_tWo8xrWBpLkX
https://dl.doubtnut.com/l/_bQLiK1heKTTi


D. 

Answer: D

Watch Video Solution

23. In the nitration of benzene with conc.  and conc  the

electrophile acting group is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HNO3 H2SO4

NO2

NO

+
NO2

NO−
3

https://dl.doubtnut.com/l/_bQLiK1heKTTi
https://dl.doubtnut.com/l/_unbgRHr7Cm58
https://dl.doubtnut.com/l/_LtKy0fMfPRmv


24. Among the following groups, which one is ortho and para directing?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−

O

∣ ∣

C − H

25. Which among the following is a meta directing group?

https://dl.doubtnut.com/l/_LtKy0fMfPRmv
https://dl.doubtnut.com/l/_I2kFSMMXLl8o


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−CH3

−

O

∣ ∣

S
∣ ∣
O

− O − H

−O − CH3

−NH2

26. In the reaction 

 


the attacking species is

A. 

B. 

Cl

Cl+

https://dl.doubtnut.com/l/_I2kFSMMXLl8o
https://dl.doubtnut.com/l/_tu2mdA0Cmyb7


C. 

D. 

Answer: B

Watch Video Solution

Cl−

AlCl
−
4

27. Benzene reacts with  in the presence of anhy  to give

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COCl AlCl3

C6H5Cl

C6H5COCl

C6H5CH3

C6H5COCH3

https://dl.doubtnut.com/l/_tu2mdA0Cmyb7
https://dl.doubtnut.com/l/_hOhNV6aDZ1Es


28. Baeyer's reagent is used in laboratory for

A. Detection of unsaturation

B. Detection of glucose

C. Reduction

D. Preparation of aldehyde

Answer: A

Watch Video Solution

29. Match Column I with Column II and select the correct answer from the

given codes 

https://dl.doubtnut.com/l/_BXTbiGLWXecw
https://dl.doubtnut.com/l/_UGsDNENbPISO


A. a-i,b-ii,c-iii,d-iv

B. a-ii,b-iii,c-iv,d-i

C. a-iii-b-iv,c-i,d-ii

D. a-iv,b-iii,c-i,d-ii

Answer: C

Watch Video Solution

30. Kolbe's electrolytic method can be applied on

https://dl.doubtnut.com/l/_UGsDNENbPISO
https://dl.doubtnut.com/l/_FRiIw6vCcwiK


A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

CH3COONa

(KOOC − CH2 − CH2 − COOK)

KOOC−CH =HC−COOK

31.  


What are the products (A) and (B) in the given reaction?

A. 

B. 

C. 

D. 

Answer: B

CH3 − C ≡ CH
Linddar's
−−−−→
catalyst

(A)
ConcH2SO4

−−−−−−→
H2O

(B)

CH3 − CH = CH2, CH3 − CH2 − CH2 − OH

CH2 = CH − CH3, CH3 − CH
∣

OH

− CH3

CH2 = CH − CH3. CH3 − C ≡ CH

CH3 − CH = CH2. CH3 − CH
∣

OSO2OH

− CH3

https://dl.doubtnut.com/l/_FRiIw6vCcwiK
https://dl.doubtnut.com/l/_7MxZPVvbmyEc


Watch Video Solution

32. What is the product obtained when ethene reacts with cold, dilute,

aqueous solution of potassium permanganate?

A. Ethyl hydrogen sulphate

B. Ethylene glycol

C. Ethanal

D. Ethanol

Answer: B

Watch Video Solution

33. (A)  Find the product (A) and

(B) in the given reaction

A. 

HBr
−−→ CH3 − CH = CH2

HBr
−−−−−−→
( Peroxide )

(B)

CH3 − CH
∣
Br

− CH3, CH3 − CH2 − CH2 − Br

https://dl.doubtnut.com/l/_7MxZPVvbmyEc
https://dl.doubtnut.com/l/_ytIMFFQQKiss
https://dl.doubtnut.com/l/_2LyYveIQZe2K


B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH − CH2 − Br, CH3 − CH
∣
Br

− CH3

Br − CH2 − CH = CH2, CH3 − CH = CH − Br

CH2
∣
Br

− CH = CH2, CH3 − C
∣
Br

= CH2

34. Which among the following represents the correct reaction of general

combusition?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CxHy + (x + )O2 → xCO2 + H2O
Y

4

Y

2

CxHy + (2x + )O2 → xCO2 + H2O
y

4

Y

2

CxHy + (x + )O2 → sCO2 + H2O
Y

2

Y

2

CxYy + (x + )O2 → xCO2 + H2O
Y

4

Y

4

https://dl.doubtnut.com/l/_2LyYveIQZe2K
https://dl.doubtnut.com/l/_SCioQmgVwHfg


35. Which among the following is a non-planar molecule?

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_SCioQmgVwHfg
https://dl.doubtnut.com/l/_mJvlfFw7aHmU


Watch Video Solution

36. Those groups which activate the benzene ring are generally

A. o-directing

B. p-directing

C. o-and m-directing

D. o-and p-directing.

Answer: D

Watch Video Solution

37. When an aqueous solution of sodium propionate is electrolysed the

gas liberated at anode is/are

A. Propane

B. CO2

https://dl.doubtnut.com/l/_mJvlfFw7aHmU
https://dl.doubtnut.com/l/_sArRalevJ2p1
https://dl.doubtnut.com/l/_EsZX2O7rdbFZ


C. Butane and 

D. Hexane and 

Answer: C

Watch Video Solution

CO2

CO2

38. Which among the following will yield 2,2-dibromo butane?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HC ≡ CH + 2HBr →

CH3C ≡ CH + 2HBr →

CH3 − CH = CH − CH3 + 2HBr →

CH3 − CH2 − C ≡ CH + 2HBr →

https://dl.doubtnut.com/l/_EsZX2O7rdbFZ
https://dl.doubtnut.com/l/_etuaTslztPy7


39. On chlorination, nitrobenzene will produce__________

A. o-chloronitrobenzene

B. p-chloronitrobenzene

C. m-chloronitrobenzene

D. All of these

Answer: C

Watch Video Solution

40. In the chlorination of benzene the catalyst used is

A. 

B. 

C. 

D. 

FeCl3

V2O5

Al2O3

Cr2O3

https://dl.doubtnut.com/l/_s7mTzEXpVZBV
https://dl.doubtnut.com/l/_I25vMzFfqngA


Answer: A

Watch Video Solution

41. Which one of the following compounds can be used to distinguish

propane from propene?

A. Aqueous 

B. Dil 

C. 

D. Ammonical 

Answer: D

Watch Video Solution

KMnO4

H2SO4

Br2 − H2O

AgNO3

42. Which one of the following compounds can be used to distinguish

propane from propene?

https://dl.doubtnut.com/l/_I25vMzFfqngA
https://dl.doubtnut.com/l/_MTXPSdKZd7El
https://dl.doubtnut.com/l/_0shs3tILO5tl


Watch Video Solution

43. 3-Hexyne reacts with Na/liq.  to produce

A. cis-3-Hexene

B. trans-3-Hexene

C. 3-Hexylamine

D. 2-Hexylamine

Answer: B

Watch Video Solution

NH3

44. Ethylene reacts with 1% cold alkaline  to form

A. Oxalic acid

B. Ethylene glycol

C. Ethyl alcohol

KMnO4

https://dl.doubtnut.com/l/_0shs3tILO5tl
https://dl.doubtnut.com/l/_U6AngsjVAuGj
https://dl.doubtnut.com/l/_kuwk4OI1WvqE


D. HCHO

Answer: B

Watch Video Solution

45. Which gas is liberated when  is hydrolysed?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CaC2

CH4

C2H6

C2H4

C2H2

46. Pick the compound having only primary hydrogen

https://dl.doubtnut.com/l/_kuwk4OI1WvqE
https://dl.doubtnut.com/l/_RH250wtogioQ
https://dl.doubtnut.com/l/_osgDYbUOrzWX


A. Cyclohexene

B. Propyne

C. But-2-ene

D. Propene

Answer: B

Watch Video Solution

47. Which among the following is expected to have the hightest boiling

point?

A. 2-Methylpropane

B. n-Hexane

C. 2-Methylpentane

D. 2,2-Dimethylbutane

Answer: B

https://dl.doubtnut.com/l/_osgDYbUOrzWX
https://dl.doubtnut.com/l/_THDps0xZyCqQ


Watch Video Solution

48. Which of the following alkane can be easily oxidized to alcohol by

?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

KMnO4

CH4

CH3 − CH3

CH3 − CH2
∣

CH3

CH3 − CH
∣

CH3

− CH3

49. An alkene having molecular formula  was subjected to

ozonolysis in the presence of zinc dust. An equimolar amount of the

following two compounds was obtained. 

C7H14

https://dl.doubtnut.com/l/_THDps0xZyCqQ
https://dl.doubtnut.com/l/_1KDUpJzfWXQq
https://dl.doubtnut.com/l/_ebHwtXNdHWgv


 


The IUPAC name of alkene is

A. 3,4-Dimethyl-3-pentene

B. 3,4-Dimethyl-2-pentene

C. 2,3-Dimethyl-3-pentene

D. 2,3-Dimethyl-2-pentene

Answer: D

Watch Video Solution

50. Aromatic hydrocarbons undergo

A. Nucleophilic addition reactions

B. Electrophilic addition reactions

https://dl.doubtnut.com/l/_ebHwtXNdHWgv
https://dl.doubtnut.com/l/_Zj2BUcmH07yw


Section B Objective Type Questions One Option Is Correct

C. Electrophilic substituion reactions

D. All of these.

Answer: C

Watch Video Solution

1. Minimum number of carbon atoms required for an alkane to show any

kind of isomerism.

A. 2

B. 3

C. 4

D. 5

Answer: C

https://dl.doubtnut.com/l/_Zj2BUcmH07yw
https://dl.doubtnut.com/l/_KTIwAzoJpzD8


Watch Video Solution

2. Alkanes can be iodinated in the presence of

A. HI

B.  and P

C. 

D. 

Answer: C

Watch Video Solution

I2

I2 + HIO3

Pl3

3. In the complete combustion of hydrocarbon  the number of

oxygen molecules required per mole of hydrocarbon is

A. 

B. 

(CnH2n+ 2)

n

2

(n + 1)

2

https://dl.doubtnut.com/l/_KTIwAzoJpzD8
https://dl.doubtnut.com/l/_fFyER1kaYo3G
https://dl.doubtnut.com/l/_gYotTPdJQukU


C. 

D. 

Answer: C

Watch Video Solution

(3n + 1)

2

(n + )
1

2

4. Highest boiling point is expected for

A. 2,2-dimethyl butane

B. 3-methyl pentane

C. 2-methyl pentane

D. n-heptane

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gYotTPdJQukU
https://dl.doubtnut.com/l/_FbQ7fMrBxCEm


5.  on reaction with  produces

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(CH3)3CMgCl D2O

(CH3)3CD

(CH3)3COD

(CD3)3CD

(CD3)3CD

6. Consider the following reaction: 

 


Identify the structure of the major products  from among the

following :

A. 

CH3C
∣
D

H − CH
∣

CH3

CH3 +
.
Br → X + HBr

(X)

CH3 − CH
∣
D

− CH
∣

CH3

− CH2

https://dl.doubtnut.com/l/_cQGIEIz6r3sO
https://dl.doubtnut.com/l/_sdto5NfYcKar


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH
∣
D

− C
∣

CH3

− CH3

CH3 − CH
∣
D

− CH3

CHCH − CH
∣

CH3

− CH3

7. In the given reaction 

 


'X' will be

A. 

B. 

C. 

D. , glycol

CH3 −

O

∣ ∣

C − C2H5
X

−−→ CH3 − CH2 − C2H5

LiAIH4

NaBH4

BCl3SnH

NH2 − NH2 /OH −

https://dl.doubtnut.com/l/_sdto5NfYcKar
https://dl.doubtnut.com/l/_QZPg8WNbHYzJ


Answer: D

Watch Video Solution

8.  The most

suitable sequence of reagents to perform this conversion is

A. HBr then 

B. NBs then alcoholic KOH

C. HBr-peroxide then 

D. HBr-peroxide then 

Answer: D

Watch Video Solution

(CH3)3COK/(CH3)3C − OH

CH3CH2OK/CH3CH2OH

(CH3)3COK/(CH3)3COH

https://dl.doubtnut.com/l/_QZPg8WNbHYzJ
https://dl.doubtnut.com/l/_Vu9KKJjsJVOw


9. The compound having only primary hydrogen atoms is

A. Isobutene

B. 2,3-dimethyl butene-2

C. Cyclohexane

D. Propyne

Answer: B

Watch Video Solution

10. Which equation does not represent an example of Friedal-crafts

reaction?

A. 

B. 

C. 

D. 

C6H6 + C2H5Cl
AlCl3

−−−−→
( Anhy )

C6H5C2H5 + HCl

C2H5OH + HCl
ZnCl2
−−−→ C2H5Cl + H2O

C6H6 + CHCl3
AlCl3

−−−−→
( Anhy )

(C6H5)3CH

C6H6 + CH3CH2COCl
Anhy
−−→
AlCl3

https://dl.doubtnut.com/l/_sHfsH3N4OK6j
https://dl.doubtnut.com/l/_ascgfKARCj6G


Answer: B

Watch Video Solution

11. In the reactions 

 


M and R are respectively

A.  and NaOH

B.  and aq 

C.  and HCl

D. 

Answer: B

Watch Video Solution

CH2

∣∣
CH2

Hypochlorous
−−−−−−−→

acid
M

R
−−→

CH2OH

∣
∣
∣

CH2OH

CH3CH2Cl

CH2Cl − CH2OH NaHCO3

CH3CH2OH

https://dl.doubtnut.com/l/_ascgfKARCj6G
https://dl.doubtnut.com/l/_UNCuF1SlYaeU


12. Arrange the following compounds in increasing order of reactivity

towards the addition of HBr 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

RCH = CHR,

CH2

∣ ∣

CH2, R2C = CHR, R2C = CR2

CH2

∣∣
CH2

< RCH = CHR < R2C = CHR < R2C = CR2

R2C = CHR < RCH = CHR < CH2 = CR2 < R2C = CR2

R2C = CR2 < R2C = CHR < RCH = CHR < CH2 = CH2

R2C = CR2 < CH2 = CH3 < RCH = CHR < R2C = CHR

13. Among the following compounds, the decreasing order of reactivity

towards electrophilic substitution is 

https://dl.doubtnut.com/l/_G6Ohnm4GwL9y
https://dl.doubtnut.com/l/_rCa9FaGBSUYO


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

III > I > II > IV

IV > I > II > III

I > II > III > IV

II > I > III > IV

https://dl.doubtnut.com/l/_rCa9FaGBSUYO


14.  


The alkene formed as a major product in the above elimination reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH2

∣∣
CH2

https://dl.doubtnut.com/l/_kO7lpeT5ys4g


15.  reacts with  under anhydrous conditions

at room temperature to give:

A.  and 

B.  and 

C. 

D. 

Answer: D

Watch Video Solution

HBr CH2 = CH − OCH3

CH3CHO CH3OH

BrCH2CHO CH3OH

BrCH2 − CH2 − O − CH2

H3C − CHBr − OCH3

16. Colouration of  will be discharged by

A. 

Br2 /CCl4

https://dl.doubtnut.com/l/_kO7lpeT5ys4g
https://dl.doubtnut.com/l/_AsDcrqBi3buL
https://dl.doubtnut.com/l/_P0nXHCy4KcOa


B. 

C. 

D. 

Answer: A

Watch Video Solution

17.  Product The predominating

product is

A. 

CH2
∣
Br

− CH = CH − CH2
∣
Br

ZnCH3OH
−−−−−−→

https://dl.doubtnut.com/l/_P0nXHCy4KcOa
https://dl.doubtnut.com/l/_1594X0pe0PYf


B. 

C. 

D. 

Answer: C

Watch Video Solution

CH2 = C = C = CH2

CH2 = CH − CH = CH2

18.  


The ozonolysis product is

A. 

https://dl.doubtnut.com/l/_1594X0pe0PYf
https://dl.doubtnut.com/l/_6N3112Z0rgNH


B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6N3112Z0rgNH


19. Consider the following reaction 

 The reactive

intermediate invovled in this reaction is

A. cArbanion

B. Carbocation

C. Free radical anion

D. Free radical cation.

Answer: C

https://dl.doubtnut.com/l/_2LzMooY1Soik


Watch Video Solution

20. The intermediate during the addition of  to propene in the

presence of peroxide is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HCl

CH3 − CH − CH2Cl

CH3 −
⊕
CH + CH3

CH3 − CH2 −
⊕

CH2

CH3 − CH2 −
+

CH2

21. Which of the following compound is most reactive towards an

electrophite  ?(E + )

https://dl.doubtnut.com/l/_2LzMooY1Soik
https://dl.doubtnut.com/l/_wGMAOnrTKoPe
https://dl.doubtnut.com/l/_cjG6HmUeffqr


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cjG6HmUeffqr


22. The reaction is  


A. Deharlogenation

B. Dehydrohalogenation

C. Decarboxytation

D. Dehydration

Answer: B

Watch Video Solution

:

CH3CHBr − CH2Br + 2KOH(alc.)
Δ

−−→ CH3 − C ≡ CH + 2KBr + 2H

23. Which of the following alkene in acid catalysed hydration form 

methyl propan  ?

A. 

B. 

C. 

2 −

−2 − ol

(CH3) + (2)C = CH2

CH3 − CH = CH2

CH3 − CH = CH − CH3

https://dl.doubtnut.com/l/_O3MIDlNUOr6z
https://dl.doubtnut.com/l/_T7ibdQ52Ie4n


D. 

Answer: A

Watch Video Solution

CH3 − CH2 − CH = CH2

24. The reaction of chlorine water with propene gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ClCH2 − CH(OH)CH3

CH2(OH)CH(Cl)CH3

ClCH2CH2CH2OH

ClCH(OH)CH2CH3ClCH(OH)CH2CH3

https://dl.doubtnut.com/l/_T7ibdQ52Ie4n
https://dl.doubtnut.com/l/_nLYhMw53RRTV


25. Point out A in the given reaction sequence 

A. 

B. 

C. 

D. 

A
O3 /H2O2

−−−−−→ B
Δ

−−→ 2CH3COOH + CO2

https://dl.doubtnut.com/l/_3Tp2kzFDXhVm


Section C Objective Type Questions More Than One Options Are Correct

Answer: C

Watch Video Solution

1. Which of the folloiwng alkanes will give more than one monochloro

product?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_3Tp2kzFDXhVm
https://dl.doubtnut.com/l/_h3K66QSGPDP3


D. 

Answer: A::B

Watch Video Solution

2. In which of the following cases product will contain more number of

carbon atoms than do present in reactant molecule?

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

RCOOK + OH − heat
−−→
CaO

B

RCOOK + H2O
Electrolysis
−−−−−−→ C

RX + Na
Dryether
−−−−→ D

https://dl.doubtnut.com/l/_h3K66QSGPDP3
https://dl.doubtnut.com/l/_NrT4NYslcZTG


3. Which of the following name reaction is used to prepare alkane

containing new carbon-carbon bond?

A. Wurtz reaction

B. Corey House synthesis

C. Sabatier and Senderens reaction

D. Clemmensen's reduction

Answer: A::B

Watch Video Solution

4. The photochemical chlorination of paraffins occurs by a free radical

mechanism. From the following set of reactions pick out the chain

propogation steps.

A. Cl2
hv

−−→ 2Cl

https://dl.doubtnut.com/l/_NrT4NYslcZTG
https://dl.doubtnut.com/l/_oj5K5znTAbHu
https://dl.doubtnut.com/l/_BywTRbl5u4tQ


B. 

C. 

D. 

Answer: B::C

Watch Video Solution

CH4 + Cl → CH3 + HCl

H3C + Cl2 → H3C − Cl + Cl

Cl + Cl → Cl2

5. The concentration aqueous solution of potassium salts of acetic acid

and propanoic acid are electrolysed. Which of the following hydrocarbons

is/are produced ?

A. 

B. 

C. 

D. 

Answer: B::C::D

CH3CH2CH2CH2CH3

CH3CH2CH2CH3

CH3CH2CH3

CH3CH3

https://dl.doubtnut.com/l/_BywTRbl5u4tQ
https://dl.doubtnut.com/l/_50DBu01kDAxw


Watch Video Solution

6. Predict the product of tiven reaction 

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

CH3CH2CH2CH3

https://dl.doubtnut.com/l/_50DBu01kDAxw
https://dl.doubtnut.com/l/_TUJ8pGZoYAV5
https://dl.doubtnut.com/l/_4AjrsaLKb5Y4


7. Which of the following reagents on reaction with acetylene yeild same

product?

A. 

B.  (cold)

C. 

D. 

Answer: B::C::D

Watch Video Solution

O3 /H2O + H +

KMnO4 /OH − /H2O

SeO2

O3 + Zn + H2O

8. In which of the following case product case product of oxidative and

reductive ozonolysis is/are different?

A. 

B.  (Cyclohexene)

C. 

C6H10

CH2 = CH2

https://dl.doubtnut.com/l/_4AjrsaLKb5Y4
https://dl.doubtnut.com/l/_61vtQKrfFWzn


D. 

Answer: A::B::C

Watch Video Solution

9. Structures of -complex formed during nitration of Anisole would be

A. 

B. 

σ

https://dl.doubtnut.com/l/_61vtQKrfFWzn
https://dl.doubtnut.com/l/_C9jVCndwk8Do


C. 

D. 

Answer: A::C

Watch Video Solution

10. Which of the following reagents can be used to prepare 2-butyne by

simple organic transformations?

A. 

https://dl.doubtnut.com/l/_C9jVCndwk8Do
https://dl.doubtnut.com/l/_2LjMnON2np9A


B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

CH3 −

Cl

∣

C
∣
Cl

−

Cl

∣

C
∣
Cl

− CH3

CH3CH2 −

Br

∣

C
∣
Br

− CH3

CH3 − CCl3

11. Friedel-Crafts alkylation is expected to proceed through carbocationic

intermediate. What would be the alkylation products when Benzene

reacts with cyclopropyl chloride under the presence of anhydrous ?

A. 

B. 

AlCl3

https://dl.doubtnut.com/l/_2LjMnON2np9A
https://dl.doubtnut.com/l/_oAgX25i7M1Wt


C. 

D. 

Answer: B::D

Watch Video Solution

12. Which of the following statements is/are correct regarding catalytic

hydrogenation?

A. It is an exothermic reaction

B. It is syn addition

C. Reactive intemediate is carbocation

D. Reactive intermediate is free radical.

Answer: A::B

https://dl.doubtnut.com/l/_oAgX25i7M1Wt
https://dl.doubtnut.com/l/_mllay6hii35v


Section D Linked Comprehension Type Questions

Watch Video Solution

1. It we see the reaction of methane with halogen, the rate determining

step for chlorination is, endothermic reaction of the chlorine atom with

methane to form methyl radical and a molecule of HCl. So free radical is

the intermediate of the reaction. Formation of free radical depends upon

the energy required to break a bond between a hydrogen atom and a

carbon atom. Chlorination of propane and Bromination of propane. when

compared it is found that bromination is more selective than

chlorination. The probability factor for  atom is 

at  for chlorination. 

Isobutane when reacts with chlorine in presence of ultra violet radiations

yield 2 products primary hydrogen substituted and  hydrogen

substituted Find their % in product mixture

A. 64% 36%

3∘ , 2∘ , 1∘H 5.0: 3.8: 1.0

25∘C

3∘

https://dl.doubtnut.com/l/_mllay6hii35v
https://dl.doubtnut.com/l/_aVWMYCWj9SMc


B. 72% 28%

C. 36% 64%

D. 30% 70%

Answer: A

Watch Video Solution

2. If we see the reaction of methane with halogen, the rate determining

step for chlorination is, endothermic reaction of the chlorine atom with

methane to form methyl radical and a molecule of HCl. So free radical is

the intermediate of the reaction. Formation of free radical depends upon

the energy required to break a bond between a hydrogen atom and a

carbon atom. Chlorination of propane and Bromination of propane. when

compared it is found that bromination is more selective than

chlorination. The probability factor for  atom is 

at  for chlorination. 

Isobutane when reacts with chlorine in presence of ultra violet radiations

3∘ , 2∘ , 1∘H 5.0: 3.8: 1.0

25∘C

https://dl.doubtnut.com/l/_aVWMYCWj9SMc
https://dl.doubtnut.com/l/_mGJVmXeoQyto


yield 2 products primary hydrogen substituted and  hydrogen

substituted Find their % in product mixture

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3∘

3. Addition of water molecule across double bond to yield

Antimarkownikov's product. Can be accomplished by Hydroboration

followed by oxidation. Reaction follows as: 

https://dl.doubtnut.com/l/_mGJVmXeoQyto
https://dl.doubtnut.com/l/_VwTF09pn80ox


 


Product of hydroboration oxidation of 1-methyl cyclopentene is

A. cis-1-methyl cyclopentanol

B. cis-2-methyl cyclopentanol

C. trans-1-methyl cyclopentanol

D. trans-2-methyl cyclopentanol

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VwTF09pn80ox


4. Addition of water molecule across double bond to yield

Antimarkownikov's product. Can be accomplished by Hydroboration

followed by oxidation. Reaction follows as: 

 


Which of the following statement is true about the given reaction?

A. Hydroboration step of the reaction proceed through Markovikoff's

additions

B. The reaction is neither stereoselective nor regioselective

C. It is stereoselective but non regioselective

https://dl.doubtnut.com/l/_96SiyDvch9EI


D. Hydroboration step of the reaction proceeds through Anti-

markovnikoff's addition.

Answer: A

Watch Video Solution

5. Addition of water molecule across double bond to yield

Antimarkownikov's product. Can be accomplished by Hydroboration

followed by oxidation. Reaction follows as: 

 


 is behaving asBH3

https://dl.doubtnut.com/l/_96SiyDvch9EI
https://dl.doubtnut.com/l/_9wYp8ozXwl1X


A. Electrophile

B. Nucleophile

C. Catalyst

D. Substrate

Answer: A

Watch Video Solution

6. Hydration reaction of alkene is catalyzed by dilute acid. Selection of

acid is important . Conjugate base of the acid should not interfere in the

reaction. There are other means by which alkenes can be converted to

alcohols. Oxymercuration demercuration gives Markovnikoff's alcohols

while hydroboration oxidation give Anti Markovnikoff's alcohol. 

When subjected to acid catalyzed hydration which of the following alkene

will give rearrangement alcohol as the predominant product?

A. 

https://dl.doubtnut.com/l/_9wYp8ozXwl1X
https://dl.doubtnut.com/l/_6QykDqTDWfPR


Section E Assertion Reason Type Questions

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_6QykDqTDWfPR


1. Statement-1: Alkynes are more reactive than alkene towards HBr 

and Statement-2: Alkynes have higher degree of unsaturation than

alkenes.

Watch Video Solution

2. Statement-1: n-pentane has higher boiling point than neopentane 

and 

Statement-2: Larger surface area is responsible for greater van der Waal's

force of attraction.

Watch Video Solution

3. Statement-1: Addition of HBr of  follows anti-

Markovnikoff's rule 

and 

Statement-2: Electron withdrawing  group destabilizes carbocation

on the adjacent carbon.

CH2 = CH − NO2

NO2

https://dl.doubtnut.com/l/_REeL1nlzrBf1
https://dl.doubtnut.com/l/_oemdNdizdqOz
https://dl.doubtnut.com/l/_nxrS2obPtYCu


Watch Video Solution

4. Statement-1: Hydroboration by oxidation of propene gives anti-

Markovnikoff's alcohol. 

and 

Statement-2: Hydroboration reaction proceeds through Markovnikoff's

addition

Watch Video Solution

5. Statement-1: Ethyne is stronger acid than ethene. 

and 

Statement-2 Introduction of alkyl group activates benzene ring

A. Statement-1 is True , Statement-2 is True , Statement-2 is a correct

explanation for Statement-2

B. Statement-1 is True , Statement-2 is True , Statement-2 is NOT a

correct explanation for Statement-2

https://dl.doubtnut.com/l/_nxrS2obPtYCu
https://dl.doubtnut.com/l/_QF9oqpyMxjQ8
https://dl.doubtnut.com/l/_U5yn471LsCPc


C. Statement-1 is True , Statement-2 is False

D. Statement-1 is False , Statement-2 is True

Answer: C

Watch Video Solution

6. Statement-1: In Friedel-Craft's acylation reaction multiple acyclation

product is obtained 

and Statement-2 Introduction of alkyl group activates benzene ring.

View Text Solution

7. Statement-1: Vinyl chloride is more reactive than ethylene. 

and 

Statement-2: Addition of HBr on vinyl chloride follows Markovnikoff's

addition.

Watch Video Solution

https://dl.doubtnut.com/l/_U5yn471LsCPc
https://dl.doubtnut.com/l/_jO1paobixsmy
https://dl.doubtnut.com/l/_eLwdfzfnzzZU


8. Statement-1: Acid catalyzed hydration of (1) involves rearrangement

 


and 

Statement-2 The formed intermediate has potential for rearrangement.

Watch Video Solution

9. Statement-1: Among isomeric pentanes 2,2-dimethyl propane has

highest melting point 

and 

Statement-2: Due to lowest surface area it will involve weakest van der

Waal's interaction.

https://dl.doubtnut.com/l/_eLwdfzfnzzZU
https://dl.doubtnut.com/l/_cCKX4MyNNwRR
https://dl.doubtnut.com/l/_Whb6cQtNUdNI


Section G Integer Answer Type Questions

Watch Video Solution

1. The unsaturation factor of

Watch Video Solution

https://dl.doubtnut.com/l/_Whb6cQtNUdNI
https://dl.doubtnut.com/l/_7AePhbOwClNf


Section H Multiple True False Type Questions

2. Total number of isomeric alkene possible with compound having

molecular formula  is

Watch Video Solution

C4H8

1. Statement-1: Benzene can decolourise Baeyer's reagent 

Statement-2:  can never be formed by reductive ozonolysis of

hydrocarbons. 

Statement-3: Acetylene forms musturd gas with sulphurmonochloride

A. T T T

B. F F T

C. F F F

D. T T F

Answer: C

CO2

https://dl.doubtnut.com/l/_zfsVIJiOzHSr
https://dl.doubtnut.com/l/_TYbzXjfc12F3


Section I Subjective Questions

Watch Video Solution

2. Statement-1: Ethyne is more reactive than ethene towards

hydrogenation 

Statement-2:  in presence of Lindlar catalyst is more reactive than 

with Pd in hydrogenation reaction 

Statement-3: Dipole moment of o-xylene is greater than m-xylene

A. T F T

B. F T F

C. F F T

D. T T F

Answer: A

Watch Video Solution

H2 H2

https://dl.doubtnut.com/l/_TYbzXjfc12F3
https://dl.doubtnut.com/l/_2fN2F7bHZGrM


1. During pyrolysis of alkanesC-C bonds break rather than C-H bonds Why?

Watch Video Solution

2. Propane is brominated in presence of UV light. All the isomeric product

formed, if brought under Wurtz's syntheis, what products are expected?

Watch Video Solution

3. Phenyl subsituted hydrocarbon (A) molecular mass 120 on

monobromination can give 3 isomeric products only Major product (B) on

treatment with sodium gives (C). Find (A) (B) and (C)

Watch Video Solution

4. Write all the products obtained by treatment of n-hexane with

diazomethane.

https://dl.doubtnut.com/l/_M865IPLwpzYN
https://dl.doubtnut.com/l/_RZrPfbV7ZQAO
https://dl.doubtnut.com/l/_4gjEEEcQ6g6b
https://dl.doubtnut.com/l/_04iu3ndWDB1d


Watch Video Solution

5. Three compounds A,B and C all have molecular formula  All the

compound rapidly decolourise  in . All three give a position test

with Baeyer's reagent. And all the three are soluble in cold conc. .

Compound A gives a precipitate when treated with ammonical 

solution. but compounds B and C do not compounds A and B both yield

pentane  when they are treated with excess  in the presence

of Pt catalyst. Under these conditions, compound C absorbs only one

mole of  and gives a product with the formula 

View Text Solution

C6H8

Br2 CCl4

H2SO4

AgNO3

(C5H12) H2

H2 C5H10

6. An organic compound (A) of molecular formula  when treated

with Na in liquid ammonia followed by reaction with s-Propyl iodide yeidls

(B)  (A) gives a ketone  (e) when treated with dil 

and  (B) on oxidation with alkaline  gives two isomeric

C5H8

C8H12 C5H10O H2SO4

HgSO4 KMnO4

https://dl.doubtnut.com/l/_04iu3ndWDB1d
https://dl.doubtnut.com/l/_Uj2Dgdj2A2Ul
https://dl.doubtnut.com/l/_UVmfwZFqSbBQ


acids (D) and (E) . Give structures of compounds (A) to (E) with

proper reasoning .

Watch Video Solution

C4H8O2

7. A certain compound 'A' has a molecular formula . It reacts with

Mg metal in anhydrous ether to form compound B which upon hydrolysis

gives n-pentane when compound A was reacted with Zn metal in dry

ether gave 4.5 dimethyl octane. What is A B and draw their structures?

Watch Video Solution

C5H11Br

8. The hydrocarbon [A] adds one mole of hydrogen in the presence of a

platinum catalyst to form n-hexane. When [A] is oxidised vigorously with

, a single carboxylic acid containing three carbon atoms is

isolated. Give the strucure of [A] and explain the reactions.

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_UVmfwZFqSbBQ
https://dl.doubtnut.com/l/_2Vf6jQmN8SzZ
https://dl.doubtnut.com/l/_QY82M67KH4Jp
https://dl.doubtnut.com/l/_IaZM0vIwefOa


Section J Aakash Challengers Questions

9. The melting points and boiling points for two  isomers are given

Explain why  has a lower melting point but higher biling

point 

Watch Video Solution

C8H18

CH3(CH2)6CH3

1. Decalin is an example of fused bicyclic systems where two six membered

rings share common C-C bond. There are two possible arrangements :

trans and cis-decalin. 

https://dl.doubtnut.com/l/_IaZM0vIwefOa
https://dl.doubtnut.com/l/_p7aDVt1y2ZQK


 


(i) Draw cis and trans decalin using the chair form for these species 

(ii) Which isomer is more stable? Give explanation.

Watch Video Solution

2. Which double bond in the given molecule is most reactive towards an

electrophile? 

https://dl.doubtnut.com/l/_p7aDVt1y2ZQK
https://dl.doubtnut.com/l/_Ffl1F5iYChVk


A. A

B. B

C. C

D. D

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_Ffl1F5iYChVk


3. What product would be obtained from the reaction of cyclopropane

with  in the presence of ?

A. 1,2-dichloropropane

B. 1,2-dichlorocyclopropane

C. 1,3-dichloropropane

D. 1,1-dichlropropane

Answer: 3

Watch Video Solution

Cl2 FeCl3

4. Assuming that no rearrangement is taking place, then how many

hydrocarbons are obtained from the reaction of 2-chloropentane with

isopropyl chloride in the presence of sodium. Do not include

stereoisomers.

Watch Video Solution

https://dl.doubtnut.com/l/_Ffl1F5iYChVk
https://dl.doubtnut.com/l/_EKo2UDEvKJ6O
https://dl.doubtnut.com/l/_OeR0nqrDooEx


Try Yourself

5. Arrangte the following hydrocarbons in the increasing order of

enthalpy of combustion. 

Watch Video Solution

1. What is the state of hybridization of carbon in butane?

Watch Video Solution

2. What is the type of bond present between the two carbon atoms in

ethane?

https://dl.doubtnut.com/l/_OeR0nqrDooEx
https://dl.doubtnut.com/l/_UPN1fbqNlew2
https://dl.doubtnut.com/l/_l7xT55YTjy6C
https://dl.doubtnut.com/l/_bfN5I8ASRMnn


Watch Video Solution

3. What is the common name of the compound given below?

Watch Video Solution

CH3 − CH2 − CH2 − CH
∣

CH3

− CH3

4. Write the common name of the given compound. 

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− CH2 − CH2 − CH3

5. Write the structure of 3,5,7-Trimethyl decane.

Watch Video Solution

https://dl.doubtnut.com/l/_bfN5I8ASRMnn
https://dl.doubtnut.com/l/_TgsffcSRWtAo
https://dl.doubtnut.com/l/_9D3btp2pyiey
https://dl.doubtnut.com/l/_ajhF7rMNLudy


6. Write the name of the given compound 

Watch Video Solution

CH3 − CH2 − CH2 − C
∣

          CH −CH3

∣
CH3

H − CH2 − CH2 −

CH3

∣

C H − CH3

7. Complete the folloiwng reaction ?

Watch Video Solution

CH3 − C
∣

CH3

= CH − CH3
H2 ,Ni
−−−→

8. Sodium salt of which acid will be needed for the the preparation of

butane? Write chemical equation. For the reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_QQ6HScbo0opF
https://dl.doubtnut.com/l/_B7HXwmsUrcj1
https://dl.doubtnut.com/l/_1VebEfW7NAaE


9. How butane can be obtained from salt of propanoic acid? Give

equation.

Watch Video Solution

10. What is the mechanism involved in the halogenation reaction of

alkanes?

Watch Video Solution

11. How does the chain termination occurs in the halogenation reaction of

alkanes?

Watch Video Solution

12. What will be product in the following reaction 

?CH3 − CH2 − CH2 − CH3
KMnO4

−−−−→

https://dl.doubtnut.com/l/_QyuosQurhGe1
https://dl.doubtnut.com/l/_WRucAlvUFlAw
https://dl.doubtnut.com/l/_UxEZjpCG2M8c
https://dl.doubtnut.com/l/_b0nLJDq1zcb7


Watch Video Solution

13. How can propane be oxidized to propionic acid?

Watch Video Solution

14. What is the energy difference between the staggered and eclipsed

conformations of ethane?

Watch Video Solution

15. What is the number of sigma  bonds and pi  bonds in 4-Ethyl-

2-,5,7-decatriene?

Watch Video Solution

(σ) (π)

16. Why alkenes are known as olefins?

W h Vid S l i

https://dl.doubtnut.com/l/_b0nLJDq1zcb7
https://dl.doubtnut.com/l/_OuZxiHm0pX87
https://dl.doubtnut.com/l/_flFzzJjyWwjz
https://dl.doubtnut.com/l/_P3fHmNEXo6G0
https://dl.doubtnut.com/l/_OQTk5Pwt5EeH


Watch Video Solution

17. Which isomer is expected to have a higher melting point? 

Watch Video Solution

18. Which isomer will have a higher boiling point? 

Watch Video Solution

19.  In the above reaction X isH3C − C ≡ C − CH3

Na/Liq .NH3

−−−−−−−−→ X

https://dl.doubtnut.com/l/_OQTk5Pwt5EeH
https://dl.doubtnut.com/l/_vabwHPSWxMoJ
https://dl.doubtnut.com/l/_4TVzVBCDgewd
https://dl.doubtnut.com/l/_bQQxjUMRLFw0


Watch Video Solution

20. Arrange the given alkyl halides in the order of decreasing rate of

dehydrohalogenation reaction i.e., when heated in presence of alc. KOH 

Watch Video Solution

CH3 − CH2 − Cl, CH3 − CH2 − Br, CH3 − CH2 − I

21. Through which mechanism does HBr undergo reaction with

unsymmetrical alkenes?

Watch Video Solution

22. Why do alkenes show addition reactions?

Watch Video Solution

https://dl.doubtnut.com/l/_bQQxjUMRLFw0
https://dl.doubtnut.com/l/_EpLrOQ2RtGZx
https://dl.doubtnut.com/l/_qmFv1iq80baz
https://dl.doubtnut.com/l/_6PWhe09V97TR


23. Complete the given reaction of alkene with  in different

condition. 

(i) 

Watch Video Solution

KMnO4

CH3 − CH2 − C
∣

CH3

= CH2
AlkalineKMnO4

−−−−−−−−−→
273K

24. Addition of water to alkenes in presence of conc.  produces

alcohol Which rule is followed in this reaction?

Watch Video Solution

H2SO4

25. What is the unit called from which polymers are made?

Watch Video Solution

26. What is the monomer used in the manufacture of TV cabinets?

Watch Video Solution

https://dl.doubtnut.com/l/_F57SllTWent4
https://dl.doubtnut.com/l/_EeyCgMUm7Ahg
https://dl.doubtnut.com/l/_JzzHeForh2Lk
https://dl.doubtnut.com/l/_1OzS9rlwRR6U


27. How many sigma bonds and pi bonds are there in the compound pent-

1-yne?

Watch Video Solution

28. Which is the first stable member of alkyne series and what is its

common name?

Watch Video Solution

29. Which polymer is used as electrodes in batteries?

Watch Video Solution

30. How many moles of dihydrogen is required for one mole of ethyne to

convert it into a saturated compound ?

https://dl.doubtnut.com/l/_1OzS9rlwRR6U
https://dl.doubtnut.com/l/_B5JkshKg0NRC
https://dl.doubtnut.com/l/_pnH5lj0uWPQ7
https://dl.doubtnut.com/l/_mUKozkP3a5IN
https://dl.doubtnut.com/l/_6nnajKBJo0ss


Watch Video Solution

31. What is the type of isomersm shown by dichlorobenzene ?

Watch Video Solution

32. How many oxygen atoms are required to form ozonide in benzene ?

Watch Video Solution

33. Which p - orbital froms  - bond ?

Watch Video Solution

π

34. Benzene's extraordinary stability is related to

Watch Video Solution

https://dl.doubtnut.com/l/_6nnajKBJo0ss
https://dl.doubtnut.com/l/_MJRt3mvHNoOk
https://dl.doubtnut.com/l/_dPP7MbMmIQfv
https://dl.doubtnut.com/l/_2wYWTFwbbHId
https://dl.doubtnut.com/l/_vMZoJZwLCCtu
https://dl.doubtnut.com/l/_VcbZD0pLlg6z


35. What is the product obtained when sodium benzonate is subjected to

decarboxylation ?

Watch Video Solution

36.  


State whether the given compound is aromatic or not.

Watch Video Solution

37. What is the common name of benzene hexachloride ?

Watch Video Solution

https://dl.doubtnut.com/l/_VcbZD0pLlg6z
https://dl.doubtnut.com/l/_OPTqHA6qdtpJ
https://dl.doubtnut.com/l/_0sbk4kYma91E
https://dl.doubtnut.com/l/_FY7UDrapsj3Z


38. How many moled of  is produced when one mole of benzene

undergoes combustion ?

Watch Video Solution

CO2

39. What is the state of hybridization of carbon in butane?

Watch Video Solution

40. What is the type of bond present between the two carbon atoms in

ethane?

Watch Video Solution

41. What is the common name of the compound given below?

Watch Video Solution

CH3 − CH2 − CH2 − CH
∣

CH3

− CH3

https://dl.doubtnut.com/l/_FY7UDrapsj3Z
https://dl.doubtnut.com/l/_N4jeZLyL2j5a
https://dl.doubtnut.com/l/_kAEE2gSdkdyl
https://dl.doubtnut.com/l/_AY2OSor7BNB4


42. Write the common name of the given compound. 

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− CH2 − CH2 − CH3

43. Write the structure of 3,5,7-Trimethyl decane.

Watch Video Solution

44. Write the name of the given compound 

Watch Video Solution

CH3 − CH2 − CH2 − C
∣

CH −CH3

∣
CH3

H − CH2 − CH2 −

CH2

∣

C H − CH3

https://dl.doubtnut.com/l/_slPUbmS0KMLz
https://dl.doubtnut.com/l/_xGEiOM8ij8ki
https://dl.doubtnut.com/l/_uEmKcx5o8Psp


45. Complete the folloiwng reaction ?

Watch Video Solution

CH3 − C
∣

CH3

= CH − CH3

H2 ,Ni
−−−→

46. What is used as a medium in Wurtz reaction ?

Watch Video Solution

47. Sodium salt of which acid will be needed for the preparation of

propane ? Write chemical equation for the reaction.

Watch Video Solution

48. How butane can be obtained from salt of propanoic acid? Give

equation.

Watch Video Solution

https://dl.doubtnut.com/l/_Xu1a8FpftYNg
https://dl.doubtnut.com/l/_xN2eBxkI7Pwu
https://dl.doubtnut.com/l/_Bk4pCGGSeCjZ
https://dl.doubtnut.com/l/_2RMmBqG4cggj


49. What is the mechanism involved in the halogenation reaction of

alkanes?

Watch Video Solution

50. How does the chain termination occurs in the halogenation reaction

of alkanes?

Watch Video Solution

51. What will be product in the following reaction 

?

Watch Video Solution

CH3 − CH2 − CH2 − CH3
KMnO4

−−−−→

52. How can propane be oxidized to propionic acid?

Watch Video Solution

https://dl.doubtnut.com/l/_YTPcHprwhkq1
https://dl.doubtnut.com/l/_owpzNkNk6qWQ
https://dl.doubtnut.com/l/_KzxUUBxF82uK
https://dl.doubtnut.com/l/_KqdaT9UYdVif


53. What is the energy difference between the staggered and eclipsed

conformations of ethane?

Watch Video Solution

54. How many sawhorse projections of ethane are possible ?

Watch Video Solution

55. What is the number of sigma  bonds and pi  bonds in 4-Ethyl-

2-,5,7-decatriene?

Watch Video Solution

(σ) (π)

56. Why alkenes are known as olefins?

Watch Video Solution

https://dl.doubtnut.com/l/_KqdaT9UYdVif
https://dl.doubtnut.com/l/_X7PHqsBRhJN5
https://dl.doubtnut.com/l/_AY0mpSkJjlC5
https://dl.doubtnut.com/l/_sRel0qZdEdGL
https://dl.doubtnut.com/l/_IdddkrqUWfuR


57. Which isomer is expected to have a higher melting point ? 

Watch Video Solution

58. Which isomer will have higher boiling point ? 

Watch Video Solution

https://dl.doubtnut.com/l/_IdddkrqUWfuR
https://dl.doubtnut.com/l/_b9mxO7F8zG4w
https://dl.doubtnut.com/l/_u7HCkL8gJgLm


59. Complete the reaction 

Watch Video Solution

CH3 − C ≡ C − CH3
But-2-yne

Na/ liq .NH3

−−−−−−−→
H2

?

60. Arrange the given alkyl halides in the order of decreasing rate of

dehydrohalogenation reaction i.e., when heated in presence of alc. KOH 

Watch Video Solution

CH3 − CH2 − Cl, CH3 − CH2 − Br, CH3 − CH2 − I

61. Through which mechanism does HBr undergo reaction with

unsymmetrical alkenes?

Watch Video Solution

62. Why do alkenes show addition reactions?

https://dl.doubtnut.com/l/_qnc1LvHEG0Op
https://dl.doubtnut.com/l/_tojj4DrT3WG0
https://dl.doubtnut.com/l/_PxiEyYB8Hy9f
https://dl.doubtnut.com/l/_p1EVnXbMZwh2


Watch Video Solution

63. Complete the given reaction of alkene with  in different

conditions 

(i)  


(i) 

Watch Video Solution

KMnO4

CH3 − CH2 − C
∣

CH3

= CH2

2-Methylbut-1-ene

AlkalineKMnO4

−−−−−−−−−→
273K

?

CH3 − CH2 − C
∣

CH3

= CH2

2-Methylbut-1-ene

AcidifiedKMnO4

−−−−−−−−−→
Δ

?

64. Addition of water to alkenes in presence of conc.  produces

alcohol Which rule is followed in this reaction?

Watch Video Solution

H2SO4

65. What is the unit called from which polymers are made?

Watch Video Solution

https://dl.doubtnut.com/l/_p1EVnXbMZwh2
https://dl.doubtnut.com/l/_iBDx5EnGVJVE
https://dl.doubtnut.com/l/_Qb3hc1WbjZd0
https://dl.doubtnut.com/l/_T8GA0WzwkkZw


66. What is the monomer used in the manufacture of TV cabinets?

Watch Video Solution

67. How many sigma bonds and pi bonds are there in the compound pent-

1-yne?

Watch Video Solution

68. Which is the first stable member of alkyne series and what is its

common name?

Watch Video Solution

69. Which polymer is used as electrodes in batteries?

Watch Video Solution

https://dl.doubtnut.com/l/_T8GA0WzwkkZw
https://dl.doubtnut.com/l/_lEwM8m7OSb1E
https://dl.doubtnut.com/l/_2E9RJ9efANlw
https://dl.doubtnut.com/l/_WFchMCwEWIWC
https://dl.doubtnut.com/l/_l2lPVM9MfeS7


70. How many moles of dihydrogen is required for one mole of ethyne to

convert it into a saturated compound ?

Watch Video Solution

71. What is the type of isomersm shown by dichlorobenzene ?

Watch Video Solution

72. How many oxygen atoms are required to form ozonide from benzene ?

Watch Video Solution

73. Which p - orbital froms  - bond ?

Watch Video Solution

π

https://dl.doubtnut.com/l/_l2lPVM9MfeS7
https://dl.doubtnut.com/l/_StYgRtKoPFmq
https://dl.doubtnut.com/l/_aRdTON0rhh6J
https://dl.doubtnut.com/l/_2mze3uO1Efqm
https://dl.doubtnut.com/l/_V973Fd7bjhvc
https://dl.doubtnut.com/l/_LpFfsUeH2wTv


74. What accounts for the unusual stablitiy of the benzene ring ?

Watch Video Solution

75. What is the product obtained when sodium benzonate is subjected to

decarboxylation ?

Watch Video Solution

76. State whether the given compound is aromatic or not.

Watch Video Solution

https://dl.doubtnut.com/l/_LpFfsUeH2wTv
https://dl.doubtnut.com/l/_XsHnwYAx8I2s
https://dl.doubtnut.com/l/_ydrUJwcVzvly


Exercise

77. What is the common name of benzene hexachloride ?

Watch Video Solution

78. How many moled of  is produced when one mole of benzene

undergoes combustion ?

Watch Video Solution

CO2

1. Which of the following reaction will not give methane?

A. 

B. 

C. 

D. All of those

CH3COONa
NaOH +CaO
−−−−−−−→

Δ

BeC2 + H2O
Δ

−−→

Al4C3 + H2O
Δ

−−→

https://dl.doubtnut.com/l/_agwTm5rTeEW7
https://dl.doubtnut.com/l/_S2NVPF7tTbRm
https://dl.doubtnut.com/l/_uFszx1MhcoKB


Answer: 2

Watch Video Solution

2. Which of the following isomer having molecular formula  will

give minimum number of mono-chloro derivatives?

A. Hexane

B. 2-Methylpentane

C. 3-Methylpentane

D. 2, 3-Dimethyl butane

Answer: 4

Watch Video Solution

C6H14

3. Methane cannot be prepared by

https://dl.doubtnut.com/l/_uFszx1MhcoKB
https://dl.doubtnut.com/l/_qbCMWYBMd9cL
https://dl.doubtnut.com/l/_iSSA5BT3Cb4v


A. Corey-house synthesis

B. Wurtz reaction

C. Fittig reaction

D. All of these

Answer: 4

Watch Video Solution

4. Which of the following alkane is not liquid at room temperature?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

C5H12

C17H36

C10H22

C4H10

https://dl.doubtnut.com/l/_iSSA5BT3Cb4v
https://dl.doubtnut.com/l/_PxtxqGV1LyOV


5. Which of the following compound can form during the free radical

chlorination of methane?

A. 

B. 

C. 

D. All of these

Answer: 4

Watch Video Solution

CH3Cl

C2H6

CCl4

6. Identify A 

https://dl.doubtnut.com/l/_PxtxqGV1LyOV
https://dl.doubtnut.com/l/_8HphtJZbrNMo
https://dl.doubtnut.com/l/_KEHWFPVb9Tkg


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

7. Which of the following reaction cannot be used for the preparation of

alkane?

A. Corey-House synthesis

B. Frankland reaction

https://dl.doubtnut.com/l/_KEHWFPVb9Tkg
https://dl.doubtnut.com/l/_MNdEV89BQPhT


C. Clemmenson's reduction

D. Aromatization

Answer: 4

Watch Video Solution

8. Which of the following has maximum boiling point?

A. 

B. 

C. 

D. 

Answer: 1

h id l i

https://dl.doubtnut.com/l/_MNdEV89BQPhT
https://dl.doubtnut.com/l/_B807rwWyVRHI


Watch Video Solution

9. Which of the following halogens is the most reactive?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

F2

Cl2

Br2

I2

10. Which of the following alkane upon dichlorination can give only two

products ?

A. 

B. 

CH3 − CH2 − CH3

CH4

https://dl.doubtnut.com/l/_B807rwWyVRHI
https://dl.doubtnut.com/l/_Ole9loXwmgKY
https://dl.doubtnut.com/l/_SabsQ0VY8c6U


C. 

D. 

Answer: 3

Watch Video Solution

C(CH3)4

11. Which of the following has maximum angle strain ?

A. 

B. 

https://dl.doubtnut.com/l/_SabsQ0VY8c6U
https://dl.doubtnut.com/l/_Q9M2pOh1vrvG


C. 

D. 

Answer: 1

Watch Video Solution

12. Total number of conformation of ethane is :

A. Zero

B. Infinite

C. Four

D. Two

Answer: 2

https://dl.doubtnut.com/l/_Q9M2pOh1vrvG
https://dl.doubtnut.com/l/_Cssnua7MmgE2


Watch Video Solution

13. Conformations arise due to rotation around

A. Carbon-Carbon double bond

B. Carbon-Carbon triple bond

C. Carbon-Carbon single bond

D. All of these

Answer: 3

Watch Video Solution

14. Which of the following is the most stable cycloalkane ?

A. 

https://dl.doubtnut.com/l/_Cssnua7MmgE2
https://dl.doubtnut.com/l/_x7w9qE14H536
https://dl.doubtnut.com/l/_eB15OrHPOZ4z


B. 

C. 

D. 

Answer: 1

Watch Video Solution

15. Bond angle in chair form of cyclohexane is

A. 

B. 

C. 

109∘ 28'

120∘

60∘

https://dl.doubtnut.com/l/_eB15OrHPOZ4z
https://dl.doubtnut.com/l/_VDTFo9KETRJv


D. 

Answer: A

Watch Video Solution

108∘

16. Most stable conformation of n-butane is :

A. Gauche-form

B. Partially eclipsed form

C. Anti-form

D. Eclipsed form

Answer: 3

Watch Video Solution

17. Torsion strain is the repulsive interaction between

https://dl.doubtnut.com/l/_VDTFo9KETRJv
https://dl.doubtnut.com/l/_ejmewNutgu1g
https://dl.doubtnut.com/l/_IFJbKJjywRk8


A. Electron cloud of two bonds

B. Electron cloud of two -bonds

C. Electron cloud of two pie-bonds

D. Electron cloud of two -bonds on adjacent atoms

Answer: 4

Watch Video Solution

σ

σ

18. Which form  of cyclohexane is/are free from angle strain?

A. Boat-form

B. Chair form

C. Twist boat

D. All of these

Answer: 4

Watch Video Solution

(s)

https://dl.doubtnut.com/l/_IFJbKJjywRk8
https://dl.doubtnut.com/l/_EQrfYXhXxUdT


19. The number of axial hydrogen atoms in chair form of cyclohexane is

A. 3

B. 6

C. 12

D. 2

Answer: 2

Watch Video Solution

20. Select the correct statement

A. Deviation from normal tetrahedral angle in cycloalkane is called

angle strain

https://dl.doubtnut.com/l/_EQrfYXhXxUdT
https://dl.doubtnut.com/l/_BLHkuCkA0YWP
https://dl.doubtnut.com/l/_tLTj6GAooWB6


B. Due to torsional strain eclipsed form has higher energy than the

staggered form of a compound

C. Chair form of cyclohexane is the most stable conformation of

cyclohexane

D. All of these

Answer: 4

Watch Video Solution

21. In which of the following geometrical isomerism is possible ?

A. 

B. 

C. 

D. All of these

Answer: 2

CH3CH = C(CH3)2

C6H5N = NC6H5

CH3CH = CH2

https://dl.doubtnut.com/l/_tLTj6GAooWB6
https://dl.doubtnut.com/l/_F8gDuBnbIaZY


Watch Video Solution

22. Identify the product in the following reaction

A. 

B. 

C. 

D. 

Answer: 4

View Text Solution

CH3CH2OH

CH2 = CH2

CH3CH2 − CH2 − OH

CH3CH = CH2

23. Which of the following is not a possible product in the above reaction

? 

https://dl.doubtnut.com/l/_F8gDuBnbIaZY
https://dl.doubtnut.com/l/_fGjnVnGTYejV
https://dl.doubtnut.com/l/_DVXcVn8jSxGg


A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

24. Consider the given reaction 

 
CH3 −

CH3

∣

C
∣

CH3

− CH2 − OH
conc.H2SO4
−−−−−−→

Δ
Alkene(major)

https://dl.doubtnut.com/l/_DVXcVn8jSxGg
https://dl.doubtnut.com/l/_RAKgVCqwo9br


Identify alkene.

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

CH3 − CH2 − CH = CH2

CH3 − CH = CH − CH3

(CH3)2C = C(CH3)2

CH3 − CH = C
∣

CH3

− CH3

25. Identify X 

https://dl.doubtnut.com/l/_RAKgVCqwo9br
https://dl.doubtnut.com/l/_89ZWewl5dr91


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_89ZWewl5dr91


26. In which of the following reaction, the major product alkane is formed

by E1cb mechanism?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − Br
alc .KOH
−−−−−→

Δ

CH3 − CH2 − C
∣
Br

H − CH3
alc .KOH
−−−−−→

Δ

CH3 − CH2 − C
∣
F

H − CH3
alc .KOH
−−−−−→

Δ

CH3F
alc .KOH
−−−−−→

Δ

27. The alkene which is the most reactive towards catalytic hydrogenaion

is

A. CH2 = CH2

https://dl.doubtnut.com/l/_89ZWewl5dr91
https://dl.doubtnut.com/l/_6WTi9ZnSGlwx
https://dl.doubtnut.com/l/_ijy6Ho6fwt0K


B. 

C. 

D. 

Answer: 1

Watch Video Solution

CH3 − CH = CH − CH3

(CH3)2C = C(CH3)2

28. In which of the folllowing alkenes, Markownikoff's rule is not

applicable ?

A. 

https://dl.doubtnut.com/l/_ijy6Ho6fwt0K
https://dl.doubtnut.com/l/_Gs5M5SnosXEj


B. 

C. 

D. 

Answer: 1

Watch Video Solution

CH3 − CH = CH2

29.  


Which of the following is a possible product in the above reaction ?

A. 

B. 

C. 

D. All of these

CH3 − CH = CH2 + HBr
Benzoyl peroxide
−−−−−−−−−→

hv
Products

CH3 − CH2 − CH2 − Br

CH3 − C
∣
Br

H − CH2 − Br

CH3 − C
∣

CH2Br

H − C
∣

CH2Br

H − CH3

https://dl.doubtnut.com/l/_Gs5M5SnosXEj
https://dl.doubtnut.com/l/_UkDdBZhWiq3Y


Answer: 4

Watch Video Solution

30. Intermediate formed during E1 reaction is -

A. Carbonion

B. Carbocation

C. Carbon free radical

D. Carbene

Answer: 2

Watch Video Solution

31. How many structural isomers are possible for the molecular formula

 which can undergo ozonolysis ?C4H8

https://dl.doubtnut.com/l/_UkDdBZhWiq3Y
https://dl.doubtnut.com/l/_5WSZNFkVBWY4
https://dl.doubtnut.com/l/_4JF1YjYankWj


A. 2

B. 4

C. 3

D. 1

Answer: 3

Watch Video Solution

32. Which of the following reaction will give acetylene as major product ?

A. 

B. 

C. 

D. All of these

Answer: 1

Watch Video Solution

2[CHI3]
Ag

−−→
Δ

H3C − CH2 − Br
alc.

−−→
KOH

C
∣
Br

H2 − C
∣
Br

H2
Zn

−−→
Δ

https://dl.doubtnut.com/l/_4JF1YjYankWj
https://dl.doubtnut.com/l/_mRel1v5XZqWC


33. Which of the following will give positive tollen's test ?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CH3 − CH3

CH2 = CH2

CH ≡ CH

34. Which of the following is an exampleof nucleophilic addition reaction

?

https://dl.doubtnut.com/l/_mRel1v5XZqWC
https://dl.doubtnut.com/l/_iWB2cSiIVqmw
https://dl.doubtnut.com/l/_6z2SxrzumTd2


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CH ≡ CH + Cl2 → CHCl = CHCl

HC ≡ CH
HCl

−−−−−−→
CH3COOH

CH2 = CHCl

HC ≡ CH + H2O
H −

−−−−−→
Hg2 − , Δ

CH3 −

O

∣ ∣

C − H

H − C ≡ C − H
NaNH2

−−−−→ HC ≡ C ( − ) Na⊕

35. Which of the following compound will give only one type of carbonyl

compound on reductive ozonolysis?

A. 

B. 

(CH3)2C = C(CH3)2

https://dl.doubtnut.com/l/_6z2SxrzumTd2
https://dl.doubtnut.com/l/_aYADiHBZByNf


C. 

D. All of these

Answer: 4

Watch Video Solution

36. Ethylene reacts with  to give

A. Mustard gas

B. Lewisite

C. Thiophene

D. Ethanethiol

Answer: 1

Watch Video Solution

S2Cl2

https://dl.doubtnut.com/l/_aYADiHBZByNf
https://dl.doubtnut.com/l/_HnA7KlE3wW2M


37. Actylene reacts with ammonical  to give precipitate of

A. Red colour

B. Yellow colour

C. White colour

D. Blue colour

Answer: 1

Watch Video Solution

Cu2Cl2

38. Identify the product in the reaction 

A. 

B. 

C. 

HC ≡ CH
K2Cr2O7 +H2SO4

−−−−−−−−−−→
[O ]

Product

CH3CHO

CH3CH2OH

CH3COOH

https://dl.doubtnut.com/l/_3zdR9hOoGDCb
https://dl.doubtnut.com/l/_ARjR6oB9AWQR


D. 

Answer: 3

Watch Video Solution

CH3OH

39. In Wacker oxidation of ethene, the product formed is

A. Ethanoic acid

B. Ethanal

C. Ethanol

D. Ethanedial

Answer: 2

Watch Video Solution

40. Which of the following compound gives  on reductive ozonolysis-CO2

https://dl.doubtnut.com/l/_ARjR6oB9AWQR
https://dl.doubtnut.com/l/_JnAJw6cKHXeI
https://dl.doubtnut.com/l/_KmELAgHZD3Gv


A. 

B. 

C. 

D. All of these

Answer: 3

Watch Video Solution

CH2 = CH2

CH2 = CH − CH = CH2

CH3C
∣
H

= C = CH − CH3

41. The carbon-carbon bond length in benzene molecule is:

A. 1.39 A

B. 1.09 A

C. 1.54 A

D. 1.34 A

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_KmELAgHZD3Gv
https://dl.doubtnut.com/l/_UoSQ3HVdJPh7


42. The resonance energy of benzene is

A. 209 KJ/mol

B. 360 KJ/mol

C. 151 KJ/mol

D. 109 KJ/mol

Answer: 3

Watch Video Solution

43. The product formed in the reaction, 

 Product is

https://dl.doubtnut.com/l/_UoSQ3HVdJPh7
https://dl.doubtnut.com/l/_IYKBBZ7S3Yrp
https://dl.doubtnut.com/l/_EInKovIFZwdp


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_EInKovIFZwdp


44. Which of the following is the most reactive towards electrophilic

substitution?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_gnMz4om8dK2q


45. Which of the following is aromatic in nature ?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gnMz4om8dK2q
https://dl.doubtnut.com/l/_WkDtUTFtVH9T


46. Which of the following is used for the preparation of benzene ?

A. Phenol

B. Ethyne

C. Furan

D. Both (1) and (2)

Answer: 4

Watch Video Solution

47. Which of the following is an examples of Friedel Crafts reaction ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_ISRpwMbXvpNR
https://dl.doubtnut.com/l/_oIBetqUp4KBp


D. All of these

Answer: 4

Watch Video Solution

48. Which out of the following is aromatic hydrocarbon ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_oIBetqUp4KBp
https://dl.doubtnut.com/l/_w4wzfhla3M3K


D. 

Answer: 3

Watch Video Solution

49. The following of  and  bonds in touleneis repectively

A. 3 and 6

B. 6 and 12

C. 3 and 10

D. 6 and 10

Answer: 3

Watch Video Solution

πe σ

https://dl.doubtnut.com/l/_w4wzfhla3M3K
https://dl.doubtnut.com/l/_N3LQ79MI80VZ
https://dl.doubtnut.com/l/_wITXFIzFwegM


Assignment Section A Obejctive Type Question

50. The  bond angle in benzene is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

C − C − C

120∘

60∘

45∘

135∘

1. The difference in potential energy between eclipsed and staggered

form of ethane is

A. 4kJ/mol

B. 12.55 kJ/mol

https://dl.doubtnut.com/l/_wITXFIzFwegM
https://dl.doubtnut.com/l/_RxdBUxXcMCb0


C. 2 kJ/mol

D. 44 kJ/mol

Answer: 2

Watch Video Solution

2. Eclipsed from of ethane has higher energy due to

A. Torsional strain

B. Steric strain

C. Angle strain

D. Both (1) & (2)

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_RxdBUxXcMCb0
https://dl.doubtnut.com/l/_sCM0ag4FctaQ


3. The angle strain in cyclopentane is

A. 

B. 

C. 44'

D. 

Answer: 3

Watch Video Solution

72∘

1∘ 28'

108∘

4. Which one is most stable ?

A. Cyclopropane

B. Cyclobutane

C. Cyclopentane

D. Cyclohexane

https://dl.doubtnut.com/l/_kkoiMBv4HMcf
https://dl.doubtnut.com/l/_7leCz6UrxKaO


Answer: 4

Watch Video Solution

5. The chair form is ______ stable than boat form by potential energy

_______ kJ/mol

A. More, 44 KJ/mol

B. Less, 44 KJ/mol

C. More, 12.55 KJ/mol

D. Less, 4 KJ/mol

Answer: 1

View Text Solution

6. Which one is not aromatic compound ?

https://dl.doubtnut.com/l/_7leCz6UrxKaO
https://dl.doubtnut.com/l/_CglSorf6y1JD
https://dl.doubtnut.com/l/_ZNxwkV5IXxzb


A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_ZNxwkV5IXxzb
https://dl.doubtnut.com/l/_kvcGQwGRaYo7


7. The incorrect match is

A. 

B. 

C. 

D. 

Answer: 2

View Text Solution

8. Which of the following statement is not correct for sigma and pi-

bonds formed between two carbon atoms ?

A. Sigma-bond is stronger than a pi-bond

B. Bond energies of sigma- and pi-bonds are of the order of 264 kJ/mol

and 317 kJ/mol, respectively

https://dl.doubtnut.com/l/_kvcGQwGRaYo7
https://dl.doubtnut.com/l/_4JuoxALf7AFB


C. Free rotation of atoms about a sigma-bond is allowed but not in

case of a pi-bond

D. Sigma-bond determines the direction between carbon atoms but a

pi-bond has no primary effect in this regard

Answer: 2

Watch Video Solution

9. The possible compound A is 

A. 

B. 

CH3 −

CH3

∣

C
∣
H

− CH2COONa

CH3 −

CH3

∣

C
∣
H

− CH2 − CH2 − COONa

https://dl.doubtnut.com/l/_4JuoxALf7AFB
https://dl.doubtnut.com/l/_mopwgo8XMbqo


C. 

D. Both (2) and (3)

Answer: 4

Watch Video Solution

CH3 − CH2 −

CH3

∣

C H − CH2 − COONa

10. On electrolysis of sodium succinate, the alkene obtained is ______ and

nature of solution after electrolysis is _______

A.  and acidic

B.  and basic

C.  and acidic

D.  and basic

Answer: 2

Watch Video Solution

CH2

∣ ∣

CH2

CH2

∣ ∣

CH2

CH

| ∣ |

CH

CH3

∣

CH3

https://dl.doubtnut.com/l/_mopwgo8XMbqo
https://dl.doubtnut.com/l/_vxeRrfA88SqQ


Watch Video Solution

11. Which one is not prepared by Wurtz reaction ?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

C2H6

n − C4H10

CH4

CH3 −

CH3

∣

C H −

CH3

∣

C H − CH3

https://dl.doubtnut.com/l/_vxeRrfA88SqQ
https://dl.doubtnut.com/l/_BSxnHc8JMuju


12.  


can be prepared by

A. Wurtz reaction

B. Fitting reaction

C. Wurtz Fittig reaction

D. Frankald reaction

Answer: 3

W h Vid S l i

https://dl.doubtnut.com/l/_hqz9x7S0c4Zv


Watch Video Solution

13.  


The incorrect statement for C is

A. Compound C is 

B. C gives positive tollens test

C. In compound C all four carbon are linearly present

D. Compound C on ozonolysis gives diketone

Answer: 2

Watch Video Solution

Mg2C3 + H2O → A
Na

−−→ B
CH3Br
−−−→ C

CH3 − C ≡ C − CH3

14. In the following compunds the decreasing order of B.P. is 

(i)  
CH3 − CH2 − CH2 − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_hqz9x7S0c4Zv
https://dl.doubtnut.com/l/_DPDpudkDeA66
https://dl.doubtnut.com/l/_rTSytRaeq8sE


(ii)  


(iii) 

A. (i)gt(ii)gt(iii)

B. (i)gt(iii)gt(ii)

C. (ii)gt(iii)gt(ii)

D. (iii)gt(ii)gt(i)

Answer: 1

Watch Video Solution

CH3 −

CH3

∣

C H − CH2 − CH2 − CH3

CH3 −

CH3

∣

C
∣

CH3

− CH2 − CH3

15. , The compound "A" is

A. 

B. 

CH3 −

CH3

∣

C H − CH2 − CH3
Cl2

−−−−→
UV light

(A)
major

CH3 −

CH3

∣

C H − C
∣
Cl

H − CH3

CH3 −

CH3

∣

C
∣
Cl

− CH2 − CH3

https://dl.doubtnut.com/l/_rTSytRaeq8sE
https://dl.doubtnut.com/l/_WUrRJuEkJY0D


C. 

D. 

Answer: 1

Watch Video Solution

CH3 −

CH3

∣

C H − CH2 − CH2Cl

CH3 −

CH2Cl

∣

C
∣
H

− CH2 − CH3

16. The compound A is 

A. Benzene

B. Duetero benzene

C. Duetero toulene

D. Both (2) and (3)

Answer: 2

https://dl.doubtnut.com/l/_WUrRJuEkJY0D
https://dl.doubtnut.com/l/_LUR1HhNqyzgU


Watch Video Solution

17. In Iodination for preparation of iodomethane compound used is

A. 

B. HgO

C. Both (1) and (2)

D. HI

Answer: 3

Watch Video Solution

HIO3

18. In chlorination the relation rate of abstraction of H in C

atom respectively

A. 5:3, 8:2

B. 5:3, 8:1

3∘ , 2∘ and1∘

https://dl.doubtnut.com/l/_LUR1HhNqyzgU
https://dl.doubtnut.com/l/_EQthllc9WOrj
https://dl.doubtnut.com/l/_4oOcX3bllJKC


C. 1600:82:1

D. 1600:5:82

Answer: 2

View Text Solution

19. In which alkane isomerization will not occur ?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

C2H6

C4H10

C5H10

C6H14

https://dl.doubtnut.com/l/_4oOcX3bllJKC
https://dl.doubtnut.com/l/_oWi2F5LzIbYx


20. Compound A is : 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_Vhv6Sw31qCul


D. 

Answer: 2

Watch Video Solution

21. The minimum heat of hydrogenation is in

A. A

B. B

C. Both have equal

D. Cannot predict

Answer: 1

W t h Vid S l ti

https://dl.doubtnut.com/l/_Vhv6Sw31qCul
https://dl.doubtnut.com/l/_WUmtRNIGxOlt


Watch Video Solution

22. The compound A is 

A. 

B. 

C. 

D. 

Answer: 2

https://dl.doubtnut.com/l/_WUmtRNIGxOlt
https://dl.doubtnut.com/l/_znGoYb16nDZj


Watch Video Solution

23. In which of the following reactions Markovnikov's rule is not observed

?

A. 

B. 

C. 

D. Both (2) and (3)

Answer: 4

Watch Video Solution

CH3CH = CH2 + HCl →

CH3CH = CH2 + HBr
organic peroxide, hv
−−−−−−−−−−−→

CH3CH = CH2 + HBrH2O2 ,hv

24. The reaction of  with HOCl will yield

A. 2-chloro-1-propanol

B. 3-chloro-2-propanol

CH3CH = CH2

https://dl.doubtnut.com/l/_znGoYb16nDZj
https://dl.doubtnut.com/l/_xA8limXbacZv
https://dl.doubtnut.com/l/_p2QnjhjPwydB


C. 1-chloro-2-propanol

D. 1-chloro-1-propanol

Answer: 3

Watch Video Solution

25.  is when oxidised in the presence of alk. 

the product obtained is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

C6H5CH2CH2CH3 KMnO4

C6H5CHO

C6H5COOH

C6H5CH2CH2CHO

C6H5COCH3

https://dl.doubtnut.com/l/_p2QnjhjPwydB
https://dl.doubtnut.com/l/_R6PAIgM1WubN
https://dl.doubtnut.com/l/_Q7LQjNHxgIJZ


26. What is X in the following sequence of reaction? 

A. Methane

B. Etanoic acid

C. Proapane

D. None of these

Answer: 2

Watch Video Solution

X
Na

−−−−→
− 1 / 2H2

Z
NaOH /Ca
−−−−−−→ CH4

↑⏐
⏐
⏐⏐

27. Addition of HBr to propene

A. Follows Markovnikov's rule

B. Does not follow Markovnikov's rule

C. Follows Markovnikov,'s rule but the product rearrangesto give anti-

Marjovnikov's product.

https://dl.doubtnut.com/l/_Q7LQjNHxgIJZ
https://dl.doubtnut.com/l/_UpYbVvCVTUIw


D. Follows free radical mechanism.

Answer: 1

Watch Video Solution

28. In an attempt to prepare propane by Wurtz reaction 1 mole of methyl

bromide and 1 mole of ethyl bromide are treated with sodium. Assuming

equal probability for all possible reaction. How many g of propane will be

obtained?

A. 44 g

B. 22 g

C. 33 g

D. 14.67 g

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_UpYbVvCVTUIw
https://dl.doubtnut.com/l/_BhinjFfmYpuL


29. The reaction of HBr with 1-propene in the presence of peroxides will

produce primarily

A. 1-Bromobutane

B. 2-Bromopropane

C. 2-Bromo-2-methylpropane

D. 1-Bromo-2-methylpropane

Answer: 4

Watch Video Solution

30. Toulene  Y. Here Y is

A. Benzaldehyde

B. Toulene

C. Benzoic acid

D. Ethylbenzene

K2Cr2O7

−−−−→
H2SO4

https://dl.doubtnut.com/l/_8K93ahHuB5rZ
https://dl.doubtnut.com/l/_E9y6KCsdvzy1


Answer: 3

Watch Video Solution

31.  Toluene 


The compound Z is

A. Acetic acid

B. Acetic anhydride

C. Acetone

D. Chloromethane

Answer: 4

Watch Video Solution

C6H6 + Z
Anhy .AlCl3
−−−−−−→

32. . Here, X isC6H6
Oxidation
−−−−−→
V2O5 / Δ

X

https://dl.doubtnut.com/l/_E9y6KCsdvzy1
https://dl.doubtnut.com/l/_F4j472Bin8hI
https://dl.doubtnut.com/l/_CeR8BeNB4CkG


A. Maleic anhydride

B. Acetic acid

C. Propanoic acid

D. Succinic acid

Answer: 1

Watch Video Solution

33. In kharash effect,reaction follows

A. Free radical substituion

B. Electrohilic addition

C. Free radical addition

D. Nucleophillic addition

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_CeR8BeNB4CkG
https://dl.doubtnut.com/l/_ORZjM8ziAIGQ


34. A is 

A. 

B. 

C. 

D. 

Answer: 1

https://dl.doubtnut.com/l/_ORZjM8ziAIGQ
https://dl.doubtnut.com/l/_OjYpfXfAwwLy


Watch Video Solution

35.  is

A. 

B. 

C. 

D. Both (2) and (3)

Answer: 2

Watch Video Solution

CH3 −

Cl

∣

CH − CH2 − CH3
Pottasium tert. butoxide
−−−−−−−−−−−−−−→ A

Major

CH3 − CH = CH − CH3

CH2 = CH − CH2 − CH3

CH3 −

CH3

∣

C = CH2

36. Compound B is 

https://dl.doubtnut.com/l/_OjYpfXfAwwLy
https://dl.doubtnut.com/l/_LHbXFcuMj08g
https://dl.doubtnut.com/l/_ddPUzjYpk2Ih


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

C2H6

CH4

CH3COOH

CH3COONa

37. Compound A,B and C are respectively 

A. 

https://dl.doubtnut.com/l/_ddPUzjYpk2Ih
https://dl.doubtnut.com/l/_8AyJXukoHtj1


B. 

C. 

D. 

Answer: 2

Watch Video Solution

38. Which one is not A, B and C 

A. 

B. 

CH3 −

O

∣ ∣

C − CH3

CH2O

https://dl.doubtnut.com/l/_8AyJXukoHtj1
https://dl.doubtnut.com/l/_xzyRj7CgpGAp


C. 

D. 

Answer: 4

Watch Video Solution

CH3 −

O

∣ ∣

C − CHO

CH3CHO

39. A,B and C can be 

A. 

B. 

C. 

D. All of these

CH3 −

O

∣ ∣

C −

O

∣ ∣

C − CH3

CHO

∣

C HO

CH3 −

O

∣ ∣

C − CHO

https://dl.doubtnut.com/l/_xzyRj7CgpGAp
https://dl.doubtnut.com/l/_NpbqHIP5w0NP


Answer: 4

Watch Video Solution

40. Baeyer's reagent is

A. 1% alkanline 

B. Acidic 

C. Neutral 

D. Aq.  solution

Answer: 1

Watch Video Solution

KMnO4

KMnO4

KMnO4

Br2

41. Acetylene when oxidized with chromic acid gives

A. Ethylene glycol

https://dl.doubtnut.com/l/_NpbqHIP5w0NP
https://dl.doubtnut.com/l/_IjtFs9TQt6VP
https://dl.doubtnut.com/l/_AnWvuVd8kE5D


B. Oxalic acid

C. Formic acid

D. Acetic acid

Answer: 4

Watch Video Solution

42. The catalyst used to reduce an alkyne to alkene is

A. Raney Nickel

B. Pallaidium

C. Lindlar's catalyst

D. Iron

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_AnWvuVd8kE5D
https://dl.doubtnut.com/l/_Hj6TbnRr7MWE
https://dl.doubtnut.com/l/_N5VLd3bsT8Xv


43. Benzene undergoes substituion reaction more easily than addition

because

A. It has a cyclic structure

B. It has three double bonds

C. Of decarboxylation of -electrons

D. It has six hydrogen atoms

Answer: 3

Watch Video Solution

πe

44. A mixture of  and  is bubbled through alkaline

solution of copper (I) chloride, contained in Woulf's bottle. The gas

coming out is:

A. Original mixture

B. 

C2H6, C2H4 C2H2

C2H6

https://dl.doubtnut.com/l/_N5VLd3bsT8Xv
https://dl.doubtnut.com/l/_7GlRdla4sEC4


C.  mixture

D. 

Answer: 3

Watch Video Solution

C2H6andC2H4

C2H4andC2H2

45. Ethylene +  A, The compound A is

A. Lewisite

B. Mustard oil

C. Mustard gas

D. Insecticide

Answer: 3

Watch Video Solution

S2Cl2 →

https://dl.doubtnut.com/l/_7GlRdla4sEC4
https://dl.doubtnut.com/l/_5LbW5l2QIwa0


46.  


Aditon of  in the reaction is an example of

A. Electrophlic addition

B. Nucleophillic addition

C. Free radical addition

D. Electrophillic additon

Answer: 2

Watch Video Solution

Ph − C ≡ CH
Hg + ,H + /H2O

−−−−−−−−−→ A

H2O

47. Monomer of neoprene is

A. Chloroprene

B. Acetylene

C. Vinyl Acetlylene

https://dl.doubtnut.com/l/_QxIXf5zipiUR
https://dl.doubtnut.com/l/_Idd4mbpNbSZa


D. Both (2) and (3)

Answer: 1

Watch Video Solution

48. Compound A is : 

A. 

B. 

C. 

D. Both (1) and (2)

Answer: 4

Watch Video Solution

H3PO2

H3PO3

H3PO4

https://dl.doubtnut.com/l/_Idd4mbpNbSZa
https://dl.doubtnut.com/l/_MHT1YFBLagzs


49. Compound A is : 

A. Isopropyl benzene

B. Cumene

C. An alkyl derivative of benzene

D. All of these

Answer: 4

Watch Video Solution

50. Which of the following is active species in sulphonation of benzene ?

A. 
⊕
SO3H

https://dl.doubtnut.com/l/_MHT1YFBLagzs
https://dl.doubtnut.com/l/_yBRU9Rw6yK9Y
https://dl.doubtnut.com/l/_IwPdcX15dWBE


B. 

C. 

D. 

Answer: 2

Watch Video Solution

SO3

O =

O

∣ ∣

S
⊕

= O

⊕
SO2

−
OH

51. Which one is o, p-directiong group for electrophliic substitution

reaction ?

A. 

B. 

C. 

D. 

−

O

∣ ∣

C − OH

−

O

∣ ∣

C − NH2

−NO2

https://dl.doubtnut.com/l/_IwPdcX15dWBE
https://dl.doubtnut.com/l/_Ov2ct9q43MhV


Answer: 3

Watch Video Solution

52.  


The decreasing order of reactivity towards electrophliic substitution

reaction is

A. (I) gt (II) gt (III)

B. (I) gt (III) gt (II)

C. (II) gt (I) gt (III)

D. (III) gt (I) gt (II)

Answer: 2

Watch Video Solution

In Chlorobenzene
( I )

, 2,4-dinitrochlorobenzene
( II )

, p- nitrochlorobenzene
( III )

https://dl.doubtnut.com/l/_Ov2ct9q43MhV
https://dl.doubtnut.com/l/_Cowo8TSDk3Bu


53.  


Compound A is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

CH3 − CH = CH − CH2 − CH3
HI

−−→ A
major

CH3 − CH2 − C
∣

∣

H − CH2 − CH3

CH3 − C
∣

∣

H − CH2 − CH2 − CH3

CH3 −

CH2

∣

C
∣

∣

− CH2 − CH3

CH3 −

CH3

∣

C
∣

CH3

− CH2I

54. The electrophilie which attacks in Friedel-Craft acylation is

A. R −

O

∣ ∣

C
⊕

https://dl.doubtnut.com/l/_gsoWKS9Ef8Ne
https://dl.doubtnut.com/l/_vcFKFax5MEVu


B. 

C. 

D. 

Answer: 1

Watch Video Solution

R −

⊕

O

∣ ∣

C

R −

−

O

∣

C
+

−
−

O

⊕

SO2

−

OH

55. Which of the folllowing shows geometrical isomerism ?

A. But-1-ene

B. But-2-ene

C. Prop-1-ene

D. Pent-1-ene

Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_vcFKFax5MEVu
https://dl.doubtnut.com/l/_RguxFxn861uY


Assignment Section B Obejctive Type Question

1.  


The best suitable reagent A is

A. 

B. 

C. 

D. HI/P(red)

Answer: 2

Watch Video Solution

CH3 − CH = CH − CHO
A

−−→ CH3 − CH = CH − CH3

C3H8S2 /H2 /Ni

N2H4 /KOH

Zn − Hg/conc. HCl

https://dl.doubtnut.com/l/_RguxFxn861uY
https://dl.doubtnut.com/l/_d4VPJiH3NVuI


2. The most suitable reagent for given conversion is 

A. Diimide

B. 

C. Zn/dil.HCl

D. 

Answer: 1

Watch Video Solution

H2 /Ni2B

LiAlH4

https://dl.doubtnut.com/l/_fnzB37zqlPhM


3. Choose the corrrect option 

A. Both (i) and (ii) are conjugated system

B. (i) and (ii) both show resonance

C. (i) and (ii) both are aromatic

D. (i) is less stable than (ii)

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_VhL9Vofe7ISO


4. In the above reaction product (B) is 

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_w3EfZ6levY8Y
https://dl.doubtnut.com/l/_tWFwMC2oP3SJ


5. The product will be 

A. 

B. 

C. 

D. Mixture of 1 and 2

Answer: 1

h id l i

https://dl.doubtnut.com/l/_tWFwMC2oP3SJ


Watch Video Solution

6. Product C is 

A. Mixture of n-butane, ethane

B. Only propane

C. Only ethane

D. n-hexane

Answer: 2

Watch Video Solution

7. Natural rubber is a polymer of isoprene(2-methylbuta-1, 3-diene). If

natural rubbber is treated with  followed by Zn/ , the final product

will be

O3 H2O

https://dl.doubtnut.com/l/_tWFwMC2oP3SJ
https://dl.doubtnut.com/l/_nVCb0ubyjskh
https://dl.doubtnut.com/l/_638vUgNpIBjR


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 − CH2 − CHO

CH3 − CH2 −

O

∣ ∣

C − CH2 − CHO

8. Product C is 

A. Propanal

https://dl.doubtnut.com/l/_638vUgNpIBjR
https://dl.doubtnut.com/l/_I6pKOwKqDEjf


B. Butanal

C. 2-pentanone

D. Propanone

Answer: 4

Watch Video Solution

9. Dehydration by conc.  is the most difficult in

A. 

B. 

C. 

H2SO4

https://dl.doubtnut.com/l/_I6pKOwKqDEjf
https://dl.doubtnut.com/l/_eMKbtP7Q6TyA


D. 

Answer: 3

Watch Video Solution

10. Which of the folllwing can be form methane gas with methyl

magnesium bromide?

A. 

B. 

https://dl.doubtnut.com/l/_eMKbtP7Q6TyA
https://dl.doubtnut.com/l/_RoIpteKTQq55


C. 

D. 

Answer: 2

Watch Video Solution

11. Which of the following compound is paramagnetic ?

A. 

https://dl.doubtnut.com/l/_RoIpteKTQq55
https://dl.doubtnut.com/l/_m5q6FO0eVyQI


B. 

C. 

D. 

Answer: 1

Watch Video Solution

12.  


In above reaction product (C ) is

A. 

CaC2
H2O
−−→ A

Cu2Cl2
−−−→
NH4Cl

B
( 1 ) 1eqv .HCl

−−−−−−−−−−−−−−−−−−−→
( 2 )Mg / ether ( 3 )CO2 /H2 /OH

C

CH2 = CH − COOH

https://dl.doubtnut.com/l/_m5q6FO0eVyQI
https://dl.doubtnut.com/l/_IgElOm4vk9ME


B. 

C. 

D. 

Answer: 4

Watch Video Solution

HC ≡ C − COOH

HOOC − C ≡ C − COOH

CH2 = CH − =
∣

COOH

CH2

13. In which of the following dehydration by conc.  no

rearrangement is favourable ?

A. 

B. 

H2SO4

https://dl.doubtnut.com/l/_IgElOm4vk9ME
https://dl.doubtnut.com/l/_rACL0679vWbp


Assignment Section C Previous Years Questions

C. 

D. 

Answer: 1

Watch Video Solution

1. 

A. 

B. 

H3C − C ≡ CH
H2O ,H4SO4

−−−−−−→
HgSO4

intermediate
A

→ product
B

https://dl.doubtnut.com/l/_rACL0679vWbp
https://dl.doubtnut.com/l/_JUx0KHFT69oH


C. 

D. 

Answer: 4

Watch Video Solution

2. Which one is the correct order of acidity ?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

CH2 = CH2 > CH3 − CH = CH2 > CH3 − C ≡ CH > CH ≡ CH

CH ≡ CH > CH3 − C ≡ CH > CH2 = CH2 > CH3CH3

CH ≡ CH > CH2 = CH2 > CH3 − C ≡ CH > CH3CH3

CH3CH3 > CH2 = CH2 > CH3 − C ≡ CH > CH ≡ CH

https://dl.doubtnut.com/l/_JUx0KHFT69oH
https://dl.doubtnut.com/l/_fUuKoZ5dEOH6
https://dl.doubtnut.com/l/_NGOwWQCl7Etv


3. With respect to the conformers of ethane, which of the following

statements is true ?

A. Bond angle remains same-but bond length changes

B. Bond angle changes same-but bond length remains

C. Both bond angle and bond length change

D. Both bond angles and bond length remains same.

Answer: 4

Watch Video Solution

4. Which of the following can beused as the halide component for friedel-

crafts reaction?

A. Chlorobenzene

B. Bromobenzene

C. Chlorobenzene

https://dl.doubtnut.com/l/_NGOwWQCl7Etv
https://dl.doubtnut.com/l/_NHncpFQAkST6


D. Isopropyl chloride

Answer: 4

Watch Video Solution

5. Which of the following compounds shall not produce propene by

reaction with HBr followed by elimination or direct only elimination

reaction?

A. 

B. 

C. 

D. 

Answer: 3

H3C −

H2

∣

C − CH2OH

H2C = C = O

H3C −

H2

∣

C − CH2Br

https://dl.doubtnut.com/l/_NHncpFQAkST6
https://dl.doubtnut.com/l/_20rJnu9bRCLo


Watch Video Solution

6. The product P is 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_20rJnu9bRCLo
https://dl.doubtnut.com/l/_Eem3MmXQMKLD


D. 

Answer: 3

Watch Video Solution

7. Which is expected to react most readily with bromine

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

C3H6

C2H2

C4H10

C2H4

https://dl.doubtnut.com/l/_Eem3MmXQMKLD
https://dl.doubtnut.com/l/_XASC793ctEIw
https://dl.doubtnut.com/l/_LciEyeKyVbFg


8. The correct statement the comparison of staggered and eclipsed

conformations of ethan is:

A. The staggered conformation of ethane is more stable than eclipsed

conformation, because staggered conformation has no torsional

strain

B. The staggered conformation of ethane is less stable than eclipsed

conformation, because staggered conformation has torsional strain

C. The eclipsed conformation of ethane is more stable than staggered

conformation, because eclipsed conformation has no torsional

strain

D. The eclipsed conformation of ethane is more stable than staggered

conformation even though the eclipsed conformation has torsional

strain

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_LciEyeKyVbFg


9. In the reactions  


 and  are 

A. X = 1-Butyne, Y = 2-Hexyne

B. X = 1-Butyne, Y = 3-Hexyne

C. X = 2-Butyne, Y = 3-Hexyne

D. X = 2-Butyne, Y = 2-Hexyne

Answer: 2

Watch Video Solution

HC ≡ CH
( 1 )NaNH2 / liq .NH3

−−−−−−−−−−−−−→
( 2 )CH3CH2Br

X

X
( 1 )NaNH2 / liq .NH3

−−−−−−−−−−−−−→
( 2 )CH3CH2Br

Y , X Y :

10. Consider the nitration of benzene using mixed conc.  and 

. If a large amount of  is added to the mixture, the rate of

nitration will be 

A. Doubled

H2SO4

HNO3 KHSO4

:

https://dl.doubtnut.com/l/_LciEyeKyVbFg
https://dl.doubtnut.com/l/_WFVxCBqX67tU
https://dl.doubtnut.com/l/_vRXYRoh4xMAO


B. Faster

C. Slower

D. Unchanged

Answer: 3

Watch Video Solution

11. In the reaction with HCl, an alkene reacts in accordance with

Markownikoff's rule to give a product 1-chloro-1-methylcyclohexane. The

possible alkene is:

A. 

B. 

https://dl.doubtnut.com/l/_vRXYRoh4xMAO
https://dl.doubtnut.com/l/_mBpJzdmZb3ZI


C. (A) and (B)

D. 

Answer: 3

Watch Video Solution

12. A single compound of the structure 

is obtainable from ozonolysis of which of the following cyclic compounds

?

A. 

https://dl.doubtnut.com/l/_mBpJzdmZb3ZI
https://dl.doubtnut.com/l/_szGnHhhJzi0g


B. 

C. 

D. 

Answer: 2

View Text Solution

13. The reaction of  with HBr produces :

A. 

C6H5CH = CHCH3

https://dl.doubtnut.com/l/_szGnHhhJzi0g
https://dl.doubtnut.com/l/_nt96vsYlv0p5


B. 

C. 

D. 

Answer: 2

Watch Video Solution

C6H5C
∣
Br

HCH2CH3

C6H5CH2C
∣
Br

HCH3

C6H5CH2CH2CH2Br

14. Which of the following organic compounds has same hybridization as

its combustion product ?

A. Ethane

B. Ethyne

C. Ethene

D. Ethanol

Answer: 2

Watch Video Solution

(CO2)

https://dl.doubtnut.com/l/_nt96vsYlv0p5
https://dl.doubtnut.com/l/_EltTXxssqZ9d


15. Which of the following reagents will be able to distinguish between

butyne and butyne ?

A. 

B. HCl

C. 

D. 

Answer: 1

Watch Video Solution

1 − 2 −

NaNH2

O2

Br2

16. Liquid hydrocarbon can be converted to a mixture of gaswous

hydrocarbon by

A. Oxidation

B. Cracking

https://dl.doubtnut.com/l/_EltTXxssqZ9d
https://dl.doubtnut.com/l/_r4KlWgpI6ckK
https://dl.doubtnut.com/l/_Dg4Yw4iL4Nkc


C. Distillation under reduced pressure

D. Hydrolysis

Answer: 2

Watch Video Solution

17. The raction of toluene with  in presence of  gives  and

reaction in presence of light gives  Thus  and  are .

A. X = Benzal chloride, Y = o-chlorotoluene

B. X=m-chlorotoluene, Y =p-chlorotoluene

C. X = o and p-chlorotoluene, Y = Trichloromethyl benzene

D. X = Benzyl chloride, Y = m-chlorotoluene

Answer: 3

Watch Video Solution

CI2 FeCI3 X

Y X Y

https://dl.doubtnut.com/l/_Dg4Yw4iL4Nkc
https://dl.doubtnut.com/l/_p3Cw1AxDise2
https://dl.doubtnut.com/l/_8WGGV1wyNfUf


18. In the following the most stable conformation m-butane is:

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_8WGGV1wyNfUf


19. Benzene reacts with  in the presence of anyhydrous  to

form

A. Chlorobenzene

B. Benzylchloride

C. Xylene

D. Toulene

Answer: 4

Watch Video Solution

CH3Cl AlCl3

20. Nitrobenzene can be prepared from benzene by using a mixture of

cone.  and cone.  In the mixture, nitric acid acts as a/an

A. Acid

B. Base

C. Catalyst

HNO3 H2SO4

https://dl.doubtnut.com/l/_8g0VpzKjAmu8
https://dl.doubtnut.com/l/_5nPbPeLBgqDF


D. Reducing agent

Answer: 2

Watch Video Solution

21. How many steroisomers does this moelcules have? 

A. 2

B. 4

C. 6

D. 8

Answer: 2

Watch Video Solution

CH3CH = CHCH2CHBrCH3

https://dl.doubtnut.com/l/_5nPbPeLBgqDF
https://dl.doubtnut.com/l/_ONvWZ46pKz9t


22. The order of decreasing reactivity towards an electrophilic reagent,

for the following would be 

(a) Benzene (b) Toulene (c ) Chlorobenzene (d) Phenol

A. 

B. agtbgtcgtd

C. bgtdgtagtc

D. dgtcgtbgta

Answer: 1

Watch Video Solution

d > b > a > c

23. Predict the product C obtained in the following reaction of but-1-yne? 

 C

A. 

CH3CH2 − C ≡ CH + HCl → B
HI

−−→

CH3CH2 −

I

∣

C
∣
Cl

− CH3

https://dl.doubtnut.com/l/_00i5voW9gy6Q
https://dl.doubtnut.com/l/_UePpEwDFoVbO


B. 

C. 

D. 

Answer: 1

Watch Video Solution

CH3 − C
∣
CH

H − CH2CH2I

CH3 − CH2 − CH2 −

I

∣

H
∣
Cl

CH3 − CH2 −

I

∣

CH − CH2Cl

24. Which one of the following alkenes will react faster with  under

catalyst hydrogenation condtion?

A. 

B. 

C. 

H2

https://dl.doubtnut.com/l/_UePpEwDFoVbO
https://dl.doubtnut.com/l/_DAJZ3T91YkEz


D. 

Answer: 1

Watch Video Solution

25. Which is maximum stable ?

A. But-1-ene

B. cis-but-2-ene

C. trans-but-2-ene

D. All have equal

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_DAJZ3T91YkEz
https://dl.doubtnut.com/l/_1Rj0r1gxC4Hb


26. Geometrical isomers differ in:

A. Position of functional group

B. Position of atoms

C. Spatial arrangement of atoms

D. Length of carbon chain

Answer: 3

Watch Video Solution

27. The correct order of reactivity towards the electrophilic substitiution

of the compounds aniline(I),benzene(II) and nitro-benzene(III) is

A. IIIgtIIgtI

B. IIgtIIIgtI

C. IltIIgtIII

D. IgtIIgtIII

https://dl.doubtnut.com/l/_Q2vu7Gvo6S0E
https://dl.doubtnut.com/l/_EouvSJFGwgoe


Answer: 4

Watch Video Solution

28. The reactive species in the nitration of benzene is

A. 

B. 

C. 

D. 

Answer: 3

View Text Solution

NO3

NHO3

NO+
2

NO−
2

29.  (product) which is

predominate , X is -

CH3 − C
∣

CH3

H − CH = CH2 + HBr →

https://dl.doubtnut.com/l/_EouvSJFGwgoe
https://dl.doubtnut.com/l/_D8IH43H82e1R
https://dl.doubtnut.com/l/_AZgzITBszila


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CH3 − C
∣

CH3

H − C
∣
Br

H − CH3

CH3 − C
∣

CH3

H − CH2 − CH2Br

CH3 −

Br

∣

C
∣

CH3

− CH2CH3

CH3 − C
∣

CH3

H − C
∣

CH3

H − CH3

30.  reacts with  in presence of  to give :

A. 

B. 

C. 

D. 

R − CH = CH2 B2H6 H2O2

R − C
∣

CH3

= O

R − C
∣
OH

H − C
∣
OH

H2

R − CH2 − CHO

R − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_AZgzITBszila
https://dl.doubtnut.com/l/_JqqYrVEcX2rT


Answer: 4

Watch Video Solution

31. Electrophile in the case of chlorination of benzene in presence of

 is

A. Cl

B. 

C. 

D. 

Answer: 3

Watch Video Solution

FeCl3

FeCl3

Cl+

Cl−

32. The bond length between central carbon atom and other carbon atom

is minimum in

https://dl.doubtnut.com/l/_JqqYrVEcX2rT
https://dl.doubtnut.com/l/_m1giZFNIjeII
https://dl.doubtnut.com/l/_PGxjnBPkNesd


A. Propene

B. Propyne

C. Propane

D. pentane

Answer: 2

Watch Video Solution

33. Which of the following is used as an anti-knocking material ?

A. Glyoxal

B. Freon

C. T.E.L.

D. Ethyl alcohol

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_PGxjnBPkNesd
https://dl.doubtnut.com/l/_Uy7JRmQoI876


34. Which of the following reactions would give a good yield of

hydrocarbon product ?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CH3CH3
Cl2

−−→
v

(CH3)3Cl
C2H5Cl
−−−→

RCOOK
Electrolysis
−−−−−−→
Oxidation

RCOOAg
I2

−−→
hv

35. In the reaction sequence 

 


 and  are respectively

A. 

CH2 = CH2

hydrochlorous
−−−−−−−→

acid
A

R
−−→

CH2OH

|      
CH2OH

A R

CH3CH2OHandHCl

https://dl.doubtnut.com/l/_Uy7JRmQoI876
https://dl.doubtnut.com/l/_ayM5jf1GVKBF
https://dl.doubtnut.com/l/_CrzSLeDbL1dJ


B. 

C. 

D. 

Answer: 4

Watch Video Solution

CH3 − CH3and heat

CH3CH2ClandNaOH

CH2Cl − CH2OHand aq.NaHCO3

36. The cylindrical shape of alkynes is due to

A. Two sigma C-C and one  C-C bonds

B. One sigma C-C and two  C-C bonds

C. Three sigma C-C bonds

D. Three  C-C bonds

Answer: 2

Watch Video Solution

πe

πe

πe

https://dl.doubtnut.com/l/_CrzSLeDbL1dJ
https://dl.doubtnut.com/l/_okvhJP4sbbLI
https://dl.doubtnut.com/l/_hnaTr5rTPg7N


37. In the commercial gasolines, the type of hydrocarbons which are more

desirable is

A. Linear unsaturated hydrocarbon

B. Toulene

C. Branced hydrocarbon

D. Straight-chain hydrocarbon

Answer: 3

Watch Video Solution

38. Most stable conformation of n-butane is :

A. Gauche

B. Staggered

C. Skew-boat

D. Eclipsed

https://dl.doubtnut.com/l/_hnaTr5rTPg7N
https://dl.doubtnut.com/l/_d0iFJ2d9YP4k


Answer: 2

Watch Video Solution

39. Which of the following statements is not compatible with arenes?

A. Electrophilic additions

B. Delocalisation of -electrons

C. Greater stability

D. Resonance

Answer: 1

Watch Video Solution

πe

40. When acetylene is passed through dil.  in the presence of 

, the compound formed is

H2SO4

HgSO4

https://dl.doubtnut.com/l/_d0iFJ2d9YP4k
https://dl.doubtnut.com/l/_ZowQY3FvjzPe
https://dl.doubtnut.com/l/_AwgOEhGmeKVi


A. Acetic acid

B. Ketone

C. Ether

D. Acetaldehyde

Answer: 4

Watch Video Solution

41. In Friedel-Crafts acylation, besides , the other reactants are

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

AlCl3

C6H6 + CH3Cl

C6H6 + CH4

C6H6 + NH2 − NH2

C6H6 + CH3COCl

https://dl.doubtnut.com/l/_AwgOEhGmeKVi
https://dl.doubtnut.com/l/_YKkIbdegBLcG


42. Gammaexane is

A. Bromobenzene

B. Benzylchloride

C. Chlorobenzene

D. Benzene hexachloride

Answer: 4

Watch Video Solution

43. In Friedel-Craft's reaction, toulene can be prepared by

A. 

B. 

C. 

C6H6 + CH3Cl

C6H6 + CH4

C6H6 + CH2Cl2

https://dl.doubtnut.com/l/_YKkIbdegBLcG
https://dl.doubtnut.com/l/_pXnPHTeI06mz
https://dl.doubtnut.com/l/_t6NnAFFXOzB3


D. 

Answer: 1

Watch Video Solution

C6H6 + CH3COCl

44. 2-butene shows geometrical isomerism due to:

A. Restricted rotation about double bond

B. Free rotation about double bond

C. Free rotation about single bond

D. Chiral carbon

Answer: 1

Watch Video Solution

45. Dihedral angle in staggerred form of ethane is

https://dl.doubtnut.com/l/_t6NnAFFXOzB3
https://dl.doubtnut.com/l/_PE6VlMDx77qa
https://dl.doubtnut.com/l/_w7hNl1RWx4zn


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

0∘

120∘

60∘

180∘

46. Which alkene on ozonolysis gives  and  ?

A. 

B. 

C. 

D. 

Answer: 1

CH3CH2CHO CH3C
∣ ∣
O

CH3

CH3CH2CH = CHCH2CH3

CH3CH2CH = CHCH3

CH3 − C
∣

CH3

= CHCH3

https://dl.doubtnut.com/l/_w7hNl1RWx4zn
https://dl.doubtnut.com/l/_aLfrCsyG09mR


Watch Video Solution

47. In preparation of alkene from alcohol using , which is the

effective factor:

A. Porosity of 

B. Temprature

C. Concentration

D. Surface area of 

Answer: 2

Watch Video Solution

Al2O3

Al2O3

Al2O3

48. The treatment of  with  or boiling 

produces :

A. 

CH3 C
∣

CH3

= CH2 NaIO4 KMnO4

CH3COCH3

https://dl.doubtnut.com/l/_aLfrCsyG09mR
https://dl.doubtnut.com/l/_qkjE8y5DbfRI
https://dl.doubtnut.com/l/_NpUru3B2GPPo


B. 

C. 

D. 

Answer: 2

Watch Video Solution

CH3COCH3 + CH3COOH

CH3COCH3 + CH3CHO

CH3CHO + CO2

49. Products of the following reaction 

 are

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

CH3C ≡ CH2CH3

( i )O3 / ether
−−−−−−−→

( ii )H2 n
∅

Z

CH3 −

O

∣ ∣

C −

O

∣ ∣

C − CH2 − CH3

CH3COOH + HOOC. CH2CH3

CH3CHO + CH3CH2CHO

CH3COOH + CH3COCH3

https://dl.doubtnut.com/l/_NpUru3B2GPPo
https://dl.doubtnut.com/l/_U4bZYZqSHeCh


Watch Video Solution

50. Which of the compounds with molecular formula yields

acetone on ozonolysis ?

A. 3-methylbut-1-ene

B. Cyclopentane

C. 2-methylbut-1-ene

D. 2-methylbut-2-ene

Answer: 4

Watch Video Solution

C5H10

51. Anti-Markownikoff's addition of HBr is not observed in

A. Pent-2-ene

B. Propane

https://dl.doubtnut.com/l/_U4bZYZqSHeCh
https://dl.doubtnut.com/l/_68iEYzbtw3zm
https://dl.doubtnut.com/l/_AT8UYKfhrEQA


C. But-2-ene

D. But-1-ene

Answer: 3

Watch Video Solution

52. Given 

I and II are 

A. A pair of optical isomers

B. Identical

C. A pair of conformers

D. A pair of geometrical isomers

https://dl.doubtnut.com/l/_AT8UYKfhrEQA
https://dl.doubtnut.com/l/_5161pDS34HG8


Answer: 3

Watch Video Solution

53. Which of the following conformers for ethylene glycol is most stable?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_5161pDS34HG8
https://dl.doubtnut.com/l/_bz3fnkwQEAOe


D. 

Answer: 4

Watch Video Solution

54. Reaction of HBr with propene in the presence of peroxide gives :-

A. Isopropyl bromide

B. 3-bromo propane

C. Allyl bromide

D. n-propyl bromide

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_bz3fnkwQEAOe
https://dl.doubtnut.com/l/_jCv9DmU5zieZ
https://dl.doubtnut.com/l/_0C6LMfmKej4n


55. Which one of the following is a free-radical substituion reaction ?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

CH3CHO + HCN → CH3CH(OH)CN

56. Using anhydrous  as catalyst, which one of the following

reactions produces ethylbenzene  ?

A. 

B. 

C. 

D. 

AlCl3

(PhEt)

H3C − CH2OH + C6H6

CH3 − CH = CH2 + C6H6

H2C = CH2 + C6H6

H3C − CH3 + C6H6

https://dl.doubtnut.com/l/_0C6LMfmKej4n
https://dl.doubtnut.com/l/_mwBpkdO6ntJQ


Answer: 3

Watch Video Solution

57. Which of the following compounds undergoes mucleophilic

substitution reaction most easily?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_mwBpkdO6ntJQ
https://dl.doubtnut.com/l/_0s4UgqGiIPNk


D. 

Answer: 3

Watch Video Solution

58. Condiser the reactions, 

(i)  


(ii)  


The mechanism of reactions (i) and (ii) are respectively :

A. 

B. 

C. 

(CH3)2CH − CH2Br
C2H5OH
−−−−→ (CH3)2CH − CH2OC2H5 + HBr

(CH3)2CH − CH2Br
C2H5O

−

−−−−→ (CH3)2CH − CH2OC2H5 + Br−

SN2andSN2

SN2andSN1

SN1andSN2

https://dl.doubtnut.com/l/_0s4UgqGiIPNk
https://dl.doubtnut.com/l/_KMcnZcka6dSJ


D. 

Answer: 1

Watch Video Solution

SN1andSN1

59. Which will undergo fastest  substitution reaction when treated

with NaOH ?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

SN2

H5C2 −

CH3

∣

C
∣
H

− Br

H3C −

CH3

∣

C
∣

CH3

− Br

H −

CH3

∣

C
∣

C2H5

− Br

H −

H

∣

C
∣
Br

− CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_KMcnZcka6dSJ
https://dl.doubtnut.com/l/_LWWK7E5JEdZA


60. Y in the reaction is 

A. Hexane

B. Cyclohexane

C. Cyclohexylcyclohexane

D. Cyclohexaylether

Answer: 2

Watch Video Solution

61. The number of isomers that can be obtained theoretically on

monochlorination of -methylbutane is:

A. one

2

https://dl.doubtnut.com/l/_LWWK7E5JEdZA
https://dl.doubtnut.com/l/_Ddm1gQF9COfR
https://dl.doubtnut.com/l/_vnn6hkULlWnD


B. two

C. three

D. four

Answer: 4

Watch Video Solution

62. When  is treated with  the product formed

is

A. 

B. 

C. 

D. 

Answer: 1

CH3CH2CHCl2 NaNH2

CH3 − CH = CH2

CH3 − C ≡ CH

https://dl.doubtnut.com/l/_vnn6hkULlWnD
https://dl.doubtnut.com/l/_YM6WmA5gCHAL


Watch Video Solution

63. 2-bromopentane is heated with postassium ethoxide in ethano1 The

major product obtained is .

A. trans-pent-2-ene

B. Pent-1-ene

C. 2-ethoxypentane

D. cis-pent-2-ene

Answer: 1

Watch Video Solution

64. An organic compound  on reation withNa/diethyl ether

gives a hydrocarbon which on monochlorination gives only one chloro

derivative  is .

A(C4H6CI)

A

https://dl.doubtnut.com/l/_YM6WmA5gCHAL
https://dl.doubtnut.com/l/_ua3GhPY4BDwL
https://dl.doubtnut.com/l/_N4syXa7RTQTW


A. t-butyl chloride

B. Secondary butyl chloride

C. Iso butyl chloride

D. n-butyl chloride

Answer: 1

Watch Video Solution

65. In the following reaction ,  


the product  is

A. 

B. 

C. 

D. 

Answer: 3

C6H5CH2Br
1 .Mg ,Ether

−−−−−−−→
2 .H3O

+
X,

'X'

C6H5CH2OCH2C6H5

C6H5CH2OH

C6H5CH3

C6H5CH2CH2C6H5

https://dl.doubtnut.com/l/_N4syXa7RTQTW
https://dl.doubtnut.com/l/_wkBaPCKu8xKi


Watch Video Solution

66. When dimethyl butanol is heated with  the major

product obtained is

A. 2, 3-dimethyl 2-butene

B. cis and trans isomers of 2, 3-dimethyl 2-butene

C. 2, 3-dimethyl 1-butene

D. 3, 3-dimethyl 1-butene

Answer: 1

Watch Video Solution

3, 3 − −2 − H2SO4

67. Identify Z in the sequence of reaaction 

A. 

CH3 − CH2 − CH = CH2
HBr

−−−−−→
H2O2 /hv

Z

CH3 − CH2 − C
∣
Br

H − CH3

https://dl.doubtnut.com/l/_wkBaPCKu8xKi
https://dl.doubtnut.com/l/_fs5f178ZDPyf
https://dl.doubtnut.com/l/_r65mppQKG5hb


B. 

C. 

D. None of these

Answer: 2

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − Br

CH3 − C
∣
Br

H − CH = CH3

68. In the following reaction 

The major product is 

A. 

https://dl.doubtnut.com/l/_r65mppQKG5hb
https://dl.doubtnut.com/l/_OR9aB0f4mAzS


B. 

C. 

D. 

Answer: 3

Watch Video Solution

69. What products are formed when the following compound is treated

with  in the presence of  
Br2 FeBr3

https://dl.doubtnut.com/l/_OR9aB0f4mAzS
https://dl.doubtnut.com/l/_3p1gn4vkooDb


A. 

B. 

C. 

D. 

Answer: 3

https://dl.doubtnut.com/l/_3p1gn4vkooDb


Assignment Section D Assertion Reason Type Question

Watch Video Solution

1. A :  adds up HBr to give 

 while  adds up

HBr to give  


R : Double bond is always more reactive than triple bond towards

electrophillic addition reaction.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

CH ≡ C − CH2 − CH = CH2

CH ≡ C − CH2 − C
∣
Br

H − CH3 CH = C
∣
Br

− CH = CH2

CH2 = C
∣
Br

− CH = CH2

https://dl.doubtnut.com/l/_3p1gn4vkooDb
https://dl.doubtnut.com/l/_hgoAcPnA71wa


Answer: 3

View Text Solution

2. A : In alkene, hydroboration oxidation process is an example of

pericyclic reaction. 

R :  forms the cyclic transition state with double bond.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

BH3

https://dl.doubtnut.com/l/_hgoAcPnA71wa
https://dl.doubtnut.com/l/_Kpz5XAzooLui


3. A : When isobutane-is-reacted with  in presence of sunlight then 

 is formed in high percentage.


R : The reactivity of  H-atoms towards chlorine are 1 : 3.8

: 5 respectively.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 2

Watch Video Solution

Cl2

CH3 −

CH3

∣

C H − CH3Cl

1∘ , 2∘ “ and ”3∘

https://dl.doubtnut.com/l/_rrFZcuuR0YVX


4. A : On dehydration with concentrated  neopentyl alcohul gives

2-methyl butene-2. 

R :  carbocation is more stable than  carbocation.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 2

Watch Video Solution

H2SO4

3∘ 2∘

5. A : Generally, n-hexane and onwards can be sulphonated but isobutane

and isopentane can also be sulphonated. 

https://dl.doubtnut.com/l/_v3qPEBHcLWSl
https://dl.doubtnut.com/l/_I19zonZ4ixIc


R : Isobutane and isopentane can produce tertiary free radical.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

6. A : When 2-fluoro butane is reacted with alcoholic KOH then butene-1 is

formed as major product. 

R: Butene-2 is more stable than butene-1.

https://dl.doubtnut.com/l/_I19zonZ4ixIc
https://dl.doubtnut.com/l/_aSsMCDfzI93m


A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 2

Watch Video Solution

7. A: When butyne-2 is reacted with Na/liq.  then trans-butene-2 is

formed.

R : This reaction proceeds through free radical intermediate.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

NH3

https://dl.doubtnut.com/l/_aSsMCDfzI93m
https://dl.doubtnut.com/l/_gThUragDSCha


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 2

Watch Video Solution

8. A : has 12 electrons i.e. 4n,  electrons. 


R : It is an antiaromatic compound. 

πe πe

https://dl.doubtnut.com/l/_gThUragDSCha
https://dl.doubtnut.com/l/_8xIfLezJ1XKU


A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 3

Watch Video Solution

9. A : Propene reacts with HBr in presence of  gives 2-bromopropane

as a major product. 

R : This reaction proceeds always through  free radical as intermediate.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

H2O2

2∘

https://dl.doubtnut.com/l/_8xIfLezJ1XKU
https://dl.doubtnut.com/l/_O2YeUapA4WBT


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 3

Watch Video Solution

10. A : Boiling point of n-pentane is more than neopentane but the

melting point of neopentane is more than n-pentane. 

R : Branching decreases the boiling point but increases the melting point.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

https://dl.doubtnut.com/l/_O2YeUapA4WBT
https://dl.doubtnut.com/l/_60JgXPc6iDC7


D. If both Assertion and Reason are false statements, then mark (4)

Answer: 3

View Text Solution

11. A : Alkynes is more reactive than alkene towards electrophilic addition

reaction.

R : Alkynes form stable carbocation than alkene.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 4

https://dl.doubtnut.com/l/_60JgXPc6iDC7
https://dl.doubtnut.com/l/_7n2V2gQ466g4


Watch Video Solution

12. A : But-1-yne has acidic hydrogen but but-2-yne does not 

R : In but-1-yne hydrogen atom is attached with sp hybridised carbon but

no hydrogen is attached with sp hybridised carbon in-but-2-yne.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_7n2V2gQ466g4
https://dl.doubtnut.com/l/_w0BAYWUFAEbJ


13. A :  on reaction with  gives but-1-

ene as major product.

R : It follows  mechanism.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

CH3 − CH2 − C
∣
F

H − CH3 KNH2

E1CB

14. A : Methane cannot be prepared by kolbe electrolytic reaction.

R : In this reaction alkane is liberated at anode.

https://dl.doubtnut.com/l/_iSKG20MEVWs5
https://dl.doubtnut.com/l/_YZA1V1nljZss


A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 2

Watch Video Solution

15. A : Benzene on reaction with  gives maleic anhydride at high

temperature. 

R :  act as reducing agent.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

V2O5

V2O5

https://dl.doubtnut.com/l/_YZA1V1nljZss
https://dl.doubtnut.com/l/_YRvJfl9abi6C


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 3

Watch Video Solution

16. A : The rate of sulphonation of benzene and deutrobenzene is

different in the presence of oleum. 

R : The slow step is the breaking of C-H or C-D bond.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

https://dl.doubtnut.com/l/_YRvJfl9abi6C
https://dl.doubtnut.com/l/_TysD4OtG4qq0


D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

17. A : Friedel-crafts alkylation of benzene occurs in the presence of Lewis

acid. 

R : The function of Lewis acid to generate electrophile.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

https://dl.doubtnut.com/l/_TysD4OtG4qq0
https://dl.doubtnut.com/l/_09Ywf9qTkRcl


Watch Video Solution

18. A : The reaction between benzene and  in the

presence of anhyd  gives ter-butyl benzene as major product.


R :  is formed first which converted into more stable 

 by libérating CO.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

(CH3)3C. COCl

AICI3

(CH3)3C.
⊕
CO

(CH3)3C
⊕

https://dl.doubtnut.com/l/_09Ywf9qTkRcl
https://dl.doubtnut.com/l/_z18Uj7oAbgjR


19. A : Addition of  in trans-but-2-ene in the presence of  gives

meso form.

R : The reaction occurs through anti addition.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

Br2 CCI4

20. A : Cyclohexane is more stable than cyclopentane. 

R : According to Baeyer strain theory angle strain in cyclohexane is more

https://dl.doubtnut.com/l/_NnDDQ9dtcS0t
https://dl.doubtnut.com/l/_B9AtAec3fBuu


than cyclopentane.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 2

Watch Video Solution

21. A : Addition of HBr in buta-1, 3-diene gives 3 bromo-but-1-ene as major

product at low Temperature. 

R : Addition of HBr in buta-1, 3-diene gives 1-bromo-but-2-ene as major

product at high temperature.

https://dl.doubtnut.com/l/_B9AtAec3fBuu
https://dl.doubtnut.com/l/_9l80PiXYyM0W


A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 2

Watch Video Solution

22. A : Gauch conformer of ethylene glycol is most stable 

R : It is due to the formation of intramolecular hydrogen bonding:

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

https://dl.doubtnut.com/l/_9l80PiXYyM0W
https://dl.doubtnut.com/l/_S4gfO882IMXj


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

23. A : But-2-ene is more stable than propene.

R : Heat of hydrogenation of but-2-ene is lesser than that of propene.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

https://dl.doubtnut.com/l/_S4gfO882IMXj
https://dl.doubtnut.com/l/_ywYyFkjUjCWP


D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

24. A : Grignard reagent on reaction with alcohol form alkane. 

R : Alcohol has acidic (active) hydrogen.

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion, then mark (2)

C. if Assertion is true statement but Reason is false, then mark (3)

D. If both Assertion and Reason are false statements, then mark (4)

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_ywYyFkjUjCWP
https://dl.doubtnut.com/l/_LgBdfTD2NDU1
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